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|. (a) Write ashortnote on book building process.

qers g (3% fafET) £ whpm w aa feol

fafed | 5
(b) Following is the balance sheet of Pragati Limited as at

31st March, 2017 :

31-3-2017 T Wi fro &1 geA T B T
Particulars Note No. Rs.
. EQUITY AND LIABILITIES

1. Shareholders Funds

Share capital 1 2,700,000
Reserves and surplus 2 8,50,000
2 Current liabilities
Trade payables 3 1,60,000
Total 3,710,000
11. ASSETS
1. Non-current assets
Fixed assets
Tangible assets 4 3,500,000
2. Current assets
Cash and cash equivalents (bank) 2,10,000
Total 3_—_—_;}'10 000
Notes to-:Accounts
1. Share capital
150000 equity shares of
12,00,

Rs 10 each, Rs 8 paid
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(v) The company issued fully paid bonus shares to equity
shareholders at the rate of 2 shares for every 5 shares
held

Pass the Journal entries to record the above transactions.

FeEr 9 e G 6o

@) 1-4-2017 F SR < g B P v e A
wUrERe Bear o fae oA gt & ELED
o & =

(i) afemr S & 10% s o Ae= fEar s
o SugE wen # 100 TN AW 12% A
Sigit T 10% Dt w Fefas fwar s

(iii) 2,30,000 TG & FIAT F 2,00,000 T § S
T

(iv)mmémfﬁmqmﬂﬂgmﬁaﬁﬁm
T it SaHT AT HNAl & 9 el arl

(v)mwﬁ%mmmﬁﬁﬂﬁmmw,s
S & ORE @ 2 AW AW P AW A A
a1

SqiET a2 @ e ot wiaftedt it 10

Or ()

Vikas Iron Ltd.issued on 1st April 2014, 50000,12% debentures
of Rs. 100 each at par repayable at the end of 4 years at 10%

premium. It was decided to create a sinking fund for the purpose

of redemption of debentures. Investments made out of sinking

fund are expected to eam interest at 5% p.a. Reference to
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sinking fund table shows that Rs. 0.232012 invested annually
at 5% compound interest amounts to Re. 1 at the end of four
years, Investments were made in multiples of 100 only. On
31st March 2018 investments were sold for Rs 4020000 and
the debentures were redeemed. Show the following accounts
for four years commencing from 1st April 2014 assuming that
bank balance on 31st March 2018 was Rs 1550000 before
receipt of interest on sinking fund for the year 2017-18 :

(i) Debentures A/c

(i) Debentures Sinking Fund A/c

(iif) Debentures Sinking Fund Investment A/c

(iv) Bank A/c

(v) Premium on Redemption of debenture A/c.
e g fito ¥ 14-2014 F 100 o WY ATt 50,000, 12%
TR e W et B S 4 af ) 10% W
W QA A O & | HOER B Ao & 35T § T FOT-
qiverr Fafer a=r a7 Faofar fovan mam 1 5w ot @i &
R PRW & 5% Rt 99 = oY @ onden ¥ W
faftr & gl & gef & i dan ® @ 0.232012 F
aiffw PR 5% Twghe & W 4 ¥ § 1 794 8 S
¥ | T 100 3 om F 68 o9 ¥ 1 31-3-2018 Y PR H
4,020,000 BT ¥ I R AT qE WO B HEA GHAT
T | 1-4-2014 ¥ YW 4 A6 @ R P @ SwifEg )| 38
wifrg e @ 2017-18 & Formie iy & = 9 e ¥
qd §% 99 31-3-2018 & 15,50,000 TIF 4T |
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(i) FoTe @l

() Sorqer give fAfer @
(aﬁ)wshmﬁﬁxﬁamm

(iv)'a'ai'@'[m

&)wrﬁmv;ﬁfﬁmml 15

2. Sonal Limited has authorised capital of Rs. one crore consisting
of 1000000 equity shares of Rs. 10 each. Follawing is the trial
balance of the company as at 31st March, 2018 :

i o @ SR TR TF w03 o = 10 T TR

10,00,000 WA S # g8 ¥\ 81-3-2018 F FHAT F
frger Pt ®

Debit Amount Credit Amount

(Rs.) (Rs.)

Calls in arreas 200000 Sales 15620000
Purchases 8770000 Creditors 500000
Advance tax paid 2450000 12% Debentures 1000000
Salaries 2000000 General reserve 580000
Advertisement 1000000 Salaries outstanding 20000
Loose tools 200000 Commission 80000
Rent 1100000 Provision for depreciation lq
Prepaid rent 30000 Plant 500000
Interest on debentures 100000 Furniture 300000
Plant 2500000 Surplus 570000 l
Furniture 1300000 Commissionreceived \
Debtors 800000 in advance 30000 l
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Stock 450000 Share capital 2000000 !

Bad debts 50000 Provision for tax 1250000 |

Bank balance 450000 (i

Buildings 1050000 i
22450000 22450000

Additional information :

(a) Rs.200000 is outstanding for advertisement

(b) Provide depreciation on plant at 20% p.a. and on furniture

at 10% p.a. on written down value basis

(¢) Maintain a provision for doubtful debts at 5%

(d) The directors proposeda dividend of 30% on paid up share
capital. Corporate dividend tax is to be charged at 20.358%

(e) Make a provision of 25.75% for income tax (including cess)

(f) Transfer Rs 500000 to General Reserve

(g) Closing stock is Rs 2000000.

You are required to prepare Statement of Profit and Loss for

the year ended 31st March, 2018 and Balance Sheet as at that

date. Prepare Notes to Accounts also.

FfefRe gag :

(2) R & 2,00,000 F9F THAT & |

(b) AT T 20% MM AT FATTR T 10% A6 FoAEH,
i eT & SMER W, F TEeE Hivd |

(c) W yEEEl @ 5% W Y (E

(d) PRy ¥ Yo oI oAt W 30% WIHIG & yE o
%\ Frme @I $T 20.358% WA ¥
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(e) AT (STHT Frea) B g 25.75% B SICEIES
o |

(f) 5,00,000 To T HII 1 eiitd & £

(g) S T 20,00,000 T T

31-3-2018 1 A T8 & A ST e feEer aEr

wﬁﬁmwmmtumﬁﬁmﬁz#

ar | 15
Or ()

(2) ForﬂmcywendedSIstMarch,ZOISﬂnmﬁtofDivyaLtd
before mm_anmmted to Rs. 3600000. There was 2 credit
balamcofzombtoughtforwmﬂﬁomthcprcviousm.
mpaidupstmccapimloonsistedoﬁooooooeqamy shares
of Rs. 10 each and 100000, 7% preference shares of Rs.
100 cach, The company makes a provision of 25.75% for
income tax. The company paid dividend for 2016-17, Rs.
1500000 during the year. Following appropriations Were
proposed by the company after the date of balance sheet :

@) Topay dividends on preference shares,

(i) To pay final dividend @ 10% to equity shareholders,

(iii) To transfer 10% of the current year profits to general
reserves,

(iv) Provide corporate dividend tax @ 20.358%,

Prepare Notes to Accounts in respect of Reserves and

Surplus as per Schedule III of the Companies Act, 2013.
3136 8




Show how the proposed @ivade 4 and CDT are to be shown.
S

Also show‘how thes < will appear in company’s
rch, 2018.
Rﬁr faer foro 1 X & T

balance sheet as 8 3
31-3-2018 & §

T 36,00,000 9 , % o @ 20,80,000 T PSS
G ST T AT SIS migﬁﬁ 10,00,000 T
aigT 10 T Wiy T4 L 200, 7% ST 3 100 TO
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et ¥ Pt 1 yend foa
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B ar&
(i) 7 T B W
TR
(iv) P T &

o a7 ST foeET |
o & sifeqw wrwiE B T

o & & 10% QT w9 &
f-
3 20.358% & & WEuE &l &

algqjam%agmma.
ﬁzmumﬂam

Far CDT fFg & 3 oy ¥ SaEa 81-3-2018

& T B 5 i 3 7= fe woR @

AR ? 5

&) Thefollowmg tsfromthcu‘ialbalm&cbf
~ Vaishnav Ele asatSlstMnIch, 2017 :
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31-3-2017 &l I01T TGN & G2 ¥ BT I&T
R :

Particulars Debit (Rs.) Credit (Rs.)
Provision for tax (2015-16). 1500000
Advance tax paid (2015-16) 1450000

Advance tax paid (2016-17) 1750000

Tax deducted at source (2016-17) 75000

Surplus (April 1,2016) 1500000
The assessment for the year 2015-16 was finalised during
the year 2016-17. The total tax liability for the year 2015-
16 was fixed at Rs. 1650000 and the net amount payable
for the year 2015-16 is paid during October 2016. The net
profit before tax for the year 2016-17 amounts to Rs.
6000000. Assume tax rate at 30.9%.

Pass journal entries and show how the various items relating
to tax will appear in the balance sheet as at 31st March,
2017.

7 2015-16 &1 FrafRer 2016-17 # far war R g
FIMAA 16,50,000 Ty fRew faFar mar | o 2015-16
& for 37 woa AR &1 PO SEgER 2016 § AT
Tar | T 2016 & & ¥ G HA WH 60,00,000 TI
@I & F & 30.9% HIAT |

@ yfaftedt saRy ofR Raed 6 & & a=faw
=T 72 31-3-2017 %Wﬁmmﬁﬁm 5
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(c) Explainthe yield method of valuation of equity shares with

example.
m#:ﬁ%mﬁﬁaﬁmﬁﬁ:aﬁm
AT | 5

3. (a) Write a short note on Supet profit method of valuation of

goodwill with example.
Sy & qeiET @ o g fafer o HeTE
e feoolt Tl | 5
(b) Following is the balance sheet of Julie Limited as at 31st
March 2017 :
et o @r 31-3-2017 FT A fe e
Particulars Note No. Rs.
EQUITY AND LIABILITIES
Shareholders funds
Share capital 1 80,00,000
Reserves and surplus 2 -31,00,000
Non-current liabilities.
Long term borrowings (15% Deb) 20,00,000
Current liabilities
Trade payables 16,80,000
Other current liabilities 6,00,000
(interest due on debentures)
Total 51.80,000
ASSETS
Non-current assets

3136 | 1 PTO.



Fixed assets

Tangible assets 6000000
Intangible assets (Goodwill) 1000000
Current assets 2180000
Total 9180000
Notes to Accounts |
* Share capital
600000 equity shares of Rs. 10 each,
fully paid 60,00,000
20000 preference shares of : .
Rs. 100 each 20,00,600
80,00,000
Reserves and surplus
Deficit (nep;ﬁve balance in
income statement) -31,00,000
"-31,00,000
Trade payables
Creditors 16,80,000

Following scheme of reconstruction was approved by the
H.Court :
(a) Equity shares are to be sub-divided into equity shares of
" Rs 10 each and each shareholder shall surrender 70% of
his holding for the purpose of reissue to debenture-holders
and creditors. :
(b) Out of shares surrendered 120000 shares issued
to preference shareholders in full settlement of their

claim.
3136 12




(¢) Debenture-holders total claim is reduced to Rs. 1400000
and is satisfied by issue of 140000 shares, out of shares
surrendered

(d) Creditors’ claim is reduced by 50% and in consideration
they receive 40000 shares out of shares surrendered

(e) The reméining surrendered shares are cancelled

() Goodwill and negative balance in surplus account are to

3136

be written off and fixed assets are reduced by Rs. 2000000,
Journalise the above transactions and prepare Reconstruction

account.

S W ¥ g @ P der s

forar -

() T ST F¥ 10 TR R T iy F SuRRE BT
& R % sivERE B 9w @i # 70% CEs
il F9  woEETE T AR @ gRfRi
T D IR VI

@) W 59 s F & 1,20,000 AT T @ B Oof
YT F sftm siwenfar @ R fsd

(iii) FOTERH & HH T e 14,00,000 %o ® ™
Gﬂ?ﬂtrﬁaafsﬁffﬁl,m,ouomﬁ%ﬁvh:rﬁaﬁq
o W |

(iv)ﬂwff%aﬁso%aa%nﬁwwﬂ‘mﬁaaﬁﬁ
q &/ I 40,000 35 RA 7
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(v) @ity @ st @ & w9 sfaRed R T
3 wE wefedl @ 20,00,000 FIA | F fHar T |
ST A3 ) o wRie R Far g @
o #f | 10
| Or ()
Following is the Balance Sheet of Vriti Ltd. as at 31st March
2017:

gfer firo T 81-3-2017 & wwee T &
Particulars Note No. Rs.
EQUITY AND LIABILITIES
Shareholders funds
Share capital 1 14,00,000
Reserves and surplus 2 . =5590,000
Non-current liabilities '
Long term borrowings 3 6,00,000
Current liabilities
Trade payables 4 3,00,000
(interest due on debentures) 60,000
. Total 'l?___,'?ﬁ ,000
ASSETS
Non-current assets
Fixed assets
Tangible assets 5 7,70,000
Intangible assets 6 1,40,000
3136 - 14
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Non-current investments

Long term loans and advances
Other non current assets

Current assets

Inventories

Trade receivables

Cash and cash equivalents (bank)
Total

Notes to Accounts

1

Share capital

10000 equity shares of Rs. 100 each,
fully paid

4000 preference shares of Rs. 100 each

Deficit (negative balance in income
statement)

Long term borrowings
10% Debentures :
Loan

Trade payables
Creditors

Tangible assets
Frechold premise

Machinery

15

4,00,000
3,60,000
1,00,000
17,70,000

10,00,000
4,00,000
14,00,000

-5,90,000




6 Intangible assets

Patents m
A new company Garima Ltd. was formed to take over the
business of Vriti Ltd. Garima Ltd to issue one equity share of
Rs. 100 each, Rs. 60 paid in exchange of every two shares in
Vriti Ltd. '
Preference shareholders to get 15, 11 % preference shares of
Rs. 10 each in exchange of two preference shares of Vriti
Ltd. :
Liability in respect of 10% debentures and interest due thereon
is to be discharged by Garima Ltd. by issue of Rs. 100 equity
shares fully paid.
The freehold premises are to be revalued at 20% more,
machinery at Rs. 90000, trade receivables are reduced by 10%,
and the value of inventories to be reduced to Rs. 160000, patents
to have no value.
The preliminary expenses amounted to Rs. 5000.
Prepare necessary ledger accounts in the books of Vriti Ltd to
close itsbooks and pass journal entries in the books of Garima
Ltd.

af firo & =aEm@ # A3 3 R @& T A AR o
¢ | IR fo ¥ 3fy fro B A AW & @ T
FaT S 100 o W N, 60 TUA &, AT A &
e Rean)
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gfafezat i) E 15

4. Neha Ltd. took over th | of Nandini Ltd. on 1-10-2017
by acquiring 32000 for Rs 480000. Following are
the balance sheets of the fwo companies as at 31st March
2018: : '
et oo A 1-10-2017 = 4,80,000 TO % 32,000 AT
e AR Rt 9 P ¥ 31-3-2018 T &

. et & que R 8
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" Particulars Note Neha Ltd. Nandini
No. (Rs) Ltd (Rs.)
1. EQUITY AND LIABILITIES

1. Shareholders funds .
Share capital { 1000000 400000
Reserves and surplus 2 480000 300000
2. Non-current liabilities

Lcnsmbotromgs 500000
3. Current lisbilities .
Trade payables 5 160000 180000
Total 3140000 880000
1. ASSETS
1. Non-current assets
Fixed assets ,
Tangible assets 4 720000 440000
Intangible assets
(Goodwill) 60000
Non-current investments:
(32000 shares in Nandini 1td.) ' 480000
2. Current assets
Inventorics 200000 180000
Trade receivables 40000 150000
Cash and cash equivalents 700000 50000
Total 2140000 880000
Notes to Accounts
1. Share capital

3136 18




Fully paid shares of

Rs 10 each 1000000 400000
2 Reserves and : -
General reserve 200000 120000
Suplus 280000 180000
480000 300000
3. Trade payables

Creditors 160000 100000
160000 180000

Plant ' 320000 180000

00 440000

The surplus and eserve of Nandini Ltd. showed 2

balance of Rs. 100000 an l!DOOOrespechw!yunlstAFﬂ.

2017. A dividend was p: the rate of 10% by Nandini Lid.

in the month of November 2017 for the year 2016-17. This
dividend was credited to iagome statement by Neha Ltd.

The bills payables of Nandini Ltd. were all issued in favour of

Neha Ltd. The g pany got these bills discounted

 with bank. Creditors of Nandini Ltd. included Rs. 40000 due to

supplied by latter company. Stock of
Nandini Ltdincludu_'- Rs. 16000 of siock purchased from Neha
Ltd. at a profit of 25 pst. The plant of Nandini Ltd. with
« book value of Rs, 200000 on 1-4-2017 was revalued at Rs.

300000 at the time of faking the control of Nandini Ltd. The
3136 19 PTO.




new value has not been incorporated in the books. Prepare
consolidated balance sheet as at 31st March 2018. Show all
calculations and workings clearly. Ignore corporate dividend
tax.
afed fro @1 SfteT @ wg W9 § 142017 T A9
1,00,000 BY TET 1,20,000 TI HA: & | T 2016-17 HY
v E & R AR fro 3 10% @ Wi R aE
arir e fo @ o Rl # e N Rar mn
et fodm AT Rod wd i A |
T | R A FEE T e st @ 8 & R w0 |
forar | af o & Al § 40,000 T Jer o & W
e © ¥ e fre 3 ==a & 16,000 599 &0 AW fo |
¥ @ A W 25% TS W R ) A fo
iz, ForET G 959 2,00,000 S99 4T & i< FH 3,00,000 l
Y H ARG A o & e o d W g |
& e ol o e o R 7@ T ¥ 31-3-208
F gAfka OIS SAR S| e FrgT qEr T |
- wyeaar Rawe fm @ st #ika ) 5 |
Or (3raan)
The following are the balance sheets of Suhani Ltd. and Radhika
Ltd. as at 31st March 2018 : |
31-3-2018 & FeEr fivo 7 TitEw fove & d@we f=
£:
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Particulars Note Suhani Radhika
No. Ltd. (Rs.) Ltd. Rs.)

1. EQUITY AND LIABILITIES
1. Shareholders funds
Share capital 1
Reserves and surplus 2
2. Currentliabilities
Trade payables
Total
1. ASSETS
Non-current assets
Fixed assets
Tangible assets 3
Non current investmenis
(30000 shares in Radhika Ltd.)
2. Current assets
Inventories
Trade receivables
Cash and cash eguivalents
Total
Notes to Accounts
1. Share capital
Fully paid shares of
Rs.10 each
2. Reserves and surplus
General reserve
(as on 1-4-2017)

3136 21

2000000 500000
600000 1500000
400000 200000

3000000 2200000

1000000 500000

1000000
500000 450000
300000 1000000
200000 250000
3000000 2200000
© 2000000 _ 500000
500000 500000
PT.O.




Surplus 100000 1000000

3. Tangible assets
Building 400000 320000
Plant 600000 180000

(i) Radhika Ltd. distributed bonus ghares out of general
reserve in the ratio of one share for every two shares held
in September 2017 but the entry for bonus shares has not

in an accident. The insurance company paid Rs. 75000
only to Radhika Ltd.

(v) Creditors of Radhika Ltd. inciude Rs. 20000 for goods
supplied by Suhani Ltd on which Suhani Ltd. made profit
of 25% on cost. Half of the goods were unsold at the end .
of the year.

(vi) The plant of Radhika Ltd with 2 book value of Rs. 200000
on 1-4-2017 was revalued at Rs. 300000 at the time of
taking the control of Suhani Ltd. The new value has not
been incorporated in the books.
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Prepare consolidated balance sheet as at 31st March 2018.
Show all calculations and workings clearly.
Ffafa g

@) 1 e 2017 H Fewl fero & @I T Sy WK feio
¥

@) 1 3%, 2017 & UfewEw fro o sfafte F9 4,00,000
Y ) ‘

(iii) TRt foro F wrg ®9a § ¥ Ry 2017 § Gw
5 wAF & il & o 1 iy & g F e S
Prifre 52 wg 9@ oiw @ wfafte enfr st ¥

(iv) T 2017 & U 1,00,000 TIA & ARG H A TH
gefer & 2 @ var an ) S e ufte fo @t
A 75,000 TIY H T 64T |

(v) TftrE fro & ET & gerh fro Zwr oMy fam
4T 20,000 TG @ w off &1 R o gerr o 3
WA W 25% 1 W9 FAET 41| 96 F o § S
o faar e w@r &

(vi) TitrT fRro @7 was, R T&% 5 2,00,000 T94
g, 1-4-2017 FI 3,00,000 TIF H TT: Yediicha (a1
mar e fafr w gere foro 3 fdsror T 1w

eI i
31-3-2018 ﬁmmmuwmﬁaw
e TwiEd | 15
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5. Following are the balance sheets of Avik Aviations Limited as
at 31st March 2017 and 31st March 2018 :
A AffRra Rio 1 31-3-2017 At 31-3-2018 & G-I

o

Particulars Note
No.

I. EQUITY AND LIABILITIES
1. Shareholders funds
Share capital 1
Reserves and surplus 2
2. Non-current liabilities
Long term borrowings 3
Other long term liabilities
lmstﬂmprovisions
3. Current lisbilities
Short term borrowings
Trade payables 4
Other short term liabilities
(Expenses duc)
Short term provisions
(Provision for tax)
Total
I1. ASSETS
1. Non-current assets
Fixed assets
‘Tangible assets Y
Intangible assets (Patents)

3136 24

2018 2017
(Rs.) (Rs.)
4500000 4000000
6250000 5700000

500000 1000000
1350000 1250000
100000 130000
750000 515000
13450000 12595000
5875000 4775000
70000 50000
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Non-current investments 700000 1200000
Long term loans and advances 1780000 1675000
Other non-current assets
. Current assets
Inventories 2300000 2230000
Trade receivables 2050000 2165000
Cash and cash equivalents(bank) 675000 500000
Total 13450000 12595000
Notes to Accounts
. Share capital
Equity shares of Rs.10 each 3000000 2000000
Preference shmesh
Rs 100 each 1500000 2000000
4500000 4000000
. Reserves and surplus ‘
Security premium 750000 700000
Surplus _ 5500000 5000000
' 3 6250000 5700000
. Long term borrowings
15% Debentures 500000 1000000
500000 1000000
. Trade payables
Creditors* 1100000 900000
Bills payables 250000 350000
1350000 1250000
25 P.T.O.




= gEme | 31-3-2018 ® O ¥ & Y
s §% & av-af @ § gEgEl @ e

I :
- To (wrE H)
() w wfeaar (sfasfer & 9= 3000
W@ o) 3,500
(i) SvAE wferal (foyfe & 9= 1250
W@ %o) 1,506
(iii) e et :
o 9 ¥ 9 5 ol wie
(sfergfr &1 W W 250 W@ o) 500
uh e & it 9 3 o § W & @

Ry (s & 9T T 150 W ) 250

T A% & fod wfew (e aforsfa) 200

(iv) B1fw F=ferar 50

5

(c) Explain the conditions to be satisfied in case amalgamation

is in the nature of merger.
fora & upiar & e F g H a0 9@ B

AT | : 5
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(a) “A fundamental attribute of corporate personality isth

company is a legal entity distinet from its members.” *

Discuss the above statement citing the relevant case 9

laws.

‘immﬁaﬁa?rﬁmﬁﬁﬂm%ﬁ?mw
Faeit & ggE UF ET g el gt are f&re
&1 T 38 g S #ed & faae Fhl S
(b) “Preliminary contracts are a nullity.” Comment on the
statement bringing out clearly the position of promoters
with regard to these contracts.
‘Wmmﬁéﬂ%f’mwﬁﬂaﬁlﬁm
T yada @ fRafy @ FW gL FA W feoqat
i | 5
(c) Write a short note on Licensed Company".
el e ey W feordt fafeT S
Or (3r)
(a) What is a foreign company? Is it necessary for it to comply
| with the provisions of the Companies Act? If so, o what
extent?
RReft Fed AT B 0w St & FraE
wagwmmww%ﬁlﬁmm%mﬁﬁ,a’r
g X a7 5
(b) Explain the concept of corporate personality and discuss
the circumstances where the Court lifts the corporate veil

to see what really lies behind.

2




mmﬂﬁmmﬁmwwﬁﬁuﬁiﬁ
& faaT S Bed e BReRe 9El gt
B % w=E @ g 5

(c) Write a note on “Illegal association of persons”.

ot & ¥y @Y W A el 5

2. (a) On the cover page of the prospectus of a company a

3137

statement was printed in bold letters stating that the
managing agent, promoters and directorswith their friends
and relatives have promised to subscribe shares worth
Rupees ten lakhs. However, they collectively subscribed
shares worth Rupees six lakhs only. Can the prospectus of
the company be considered as misleading?

F & URET & HEYS T UH HAA e F A1 g
o7 f YeET T, waE ofr Frwe ofR o T
o7 FREEl ¥ 58 W@ o & Y A H A [HA
%1@3@%&@%@%@%@&
wier 5T @ A & gEERer & 9HE Bl 5
T B7? 5

(b) What do you mean by “buyback of securities™? Explain

the legal provisions relating to buyback of securities by a
company under the Companies Act, 2013.

o ‘R @ AT whe & e §7 H
e, 2013 % orefr FeT g Rl St AR
@iz ¥ gatug Sufe yEuE A FEEdl S
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(c) Discuss the bixi.ding effect of Memorandum of Association
and Articles of Association of a company on the share-
holders, outsiders and the company itself.

il % SigrEnteat, aTet anl @ A W@ W S
&1 faaw Ff | 5
Or (raan)

(a) Write a note on ‘Producer Company’.

‘FeaTed FET W fafad | 5

(b) “An outsider is presumed to know the constitution and the -

statutory public documents of a company, but not what
may or may not have taken place within the doors that are
closed to him.” Explain with reference to the doctrine of
Indoor Management.
e TTET AT I H & Hefe W s
qaT TES WEHE B §H O IRERTT ¥, 9g T8
&} fp ot e wEs ol a5 € o WIS & e A
T g SRS yeuA B O & g A
qHHAERY | 5
(c) Discuss the importance of a Red Herring prospectus in
the light of issue of securities by the company through book
building process.

3137 4

I ——




gmﬁ%ﬁgﬁ;m%mﬁm:ﬁmﬁgﬁq‘f%
%%mﬁ&%ﬁn%%mwﬁﬁm
FITT | 5

3. (a) Differentiate between right issue and bonus issue.
a7 i qer wee fpfa & e P 5

(b) “Directors owe a duty of loyalty and care in performing
their duties.” Do you agree? Explain.
“Hﬁﬁfm’faﬁﬁ%i‘fﬁqﬁ%maﬂmﬁaﬁ?
W%W%W%I”wmm%?
LR EIE] 5

(c) What is the roje of CSR Committee? [s it compulsory for
a Company to constitute a CSR Com.mitree?
csnaﬁﬁraﬁmﬁﬁmaﬁ%?wmaﬁcsn
T e @ Far smavas & 5

Or (3remm)

(8) Discuss the provisions of the Companies Act, 2013
regarding holding of board’s meeting through audio-visual
means.

T A ¥ A g A 3 i R
%Wﬁuﬁm'—ﬁaﬁrﬁw, 2013 & YEOTEY %7 Ry
HIfT | 5

(b) State difference between transfer and transmission of
shares,

M % AR SR wwiET F 7 5
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(c) Write a note on “Women Director’.

e Py W e @ 5

. (a) ‘Dividend once declared cannot be revoked.’ Are there

any exceptions to it? Explain.
‘m@msﬁﬁﬂﬂ%%qﬁmmﬁﬂqﬁﬁf@m
m%rmsﬂ%aﬁé-m%?mﬁt 5
(b) What is an Audit Committee? Discuss its pOWers and
functions. _
sideT Wil F B SEH qiEl A FE H
g &I | 5
(c) ‘A faulty notice of a meeting can be fatal to the validity of
a meeting.’ Explain.
‘wlaﬁamwwwa&%um%mm
& @t ol FAEEd | 5
Or (M)
(a) Distinguish between ordinary resolution and special
resolution by giving suitable examples of each.
e W SR Fd g | W i | T D
TugAR SeE At | 5
(b) ABC Limited has its registered office at Mumbai. The
company desires to hold its AGM at New Delhi. Examine
the validity of the company s desire with reference to the

relevant provisions of the Companies Act.

6




ABC o &1 Ui FAfed 798 § & | A AT
AGM 7 Rl # HeT Wt &1 F s @
TR JrEEE & e § SRl @ 59 gl & aud
T e i | 5
(c) Discuss the provisions of the Companies Act, 2013
regarding the removal of a Director.
flys @ TewE B0 ¥ wErT w s,
2013 & WALl &1 f@AFE i | 5

5. (a) What are the provisions of the Companies Act, 2013
regarding the appointment of an Auditor?
sidem &1 Fgie & e s afafay, 2018 9
FT Y g2 5
(b) State the circumstances under which a company may be
wound up compulsorily by the NCLT.
NCLT &RT &1 &7 afard e foe aRRafoal &
foar s wapar 2 5
(c) Write a note on ‘Dematerialisation of securities’.
‘gt @ @ Wed W W AR fWEa s
Or (3r4an)
(a) Write a note on ‘National Company Law Tribunal’.
TS FAT HA IEFET (NCLD) W e foifd ) s
(b) Who can file a petition in the NCLT for winding up of a

company?
3137 7 P.T.O.



Foqdt % A & R NCLTH 3 S99 HIge 6
T &7 5

(c) What is Depository? Explain the benefits of Depository
System.

e’ (Depository) FT BYT &7 TIEEI YO &
WY FHARY | 5
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(a)

«Iimitations of financial accounting have made the

management realise the importance of cost accounting.”

%qﬁamt{mﬁﬁmﬁmf'ﬁwﬁaﬁﬁm 5

(b) Hari has started business with a fleet of 10 taxis. The

3138

various eXpenses incurred are :

Cost of each taxi —Rs. 75,000; salary of office staff — Rs.
1,500 per month; salary of garage staff — Rs. 2,000 per
month; rent of garage — Rs. 1,000 per month; Driver’s
salary (per taxi) Rs. 400 per month; Road tax and repairs
(per taxi) — Rs. 2,160 per annum; Insurance premium @
4% of cost per annum.
The life of a taxi is 3,00,000 km, at the end of which it is
estimated to be sold for Rs. 15,000. A taxi runs on an
average 4,000 km per month, of which 20% itruns vacant.
Petrol consumption is 9 km per litre of petrol costing Rs.
6.30 per litre. Oil and other sundry expenses amount t0
Rs. 10 per 100 km. Calculate the effective cost of running
a taxi per kilometre.
A 10maﬁimwmmum
= =d = &
m%ﬁaﬁmnﬁmm;mmaﬁ
gm?g& 1,500 o WY FEH e =TE & qaq 2,000
2




sowﬁrms;ﬂmmmmooaogﬁm;waﬁ
Fa (afRr 2=RA) 400 Bo ST WE; TS o qET 7O
(wfer Taril) 2,1wﬁoaﬁﬁ,ﬁmﬂﬁuﬂ@wﬁr
4% s T

s Rl @ SAaeEE 3,00,000 Pt &, s
= § SuE! 1s,oooaoiffaaaaﬁ$ragwﬁ%mﬁ
ST 4,000 fFT0 oy e ot T & Rrar 20%
%Mﬂﬁ%tﬁﬂaaﬁwgﬁﬁouﬁwﬁa
%mﬁme.mmuﬁﬁﬂa%lﬂﬁwm
fafae =@ 10 Fo W 100 R Tsa Bl

S 2 dRam @ ufr Reflo B gl W
et | 10

or ()

(a) Distinguish between ‘cost’, ‘expense’, and ‘loss’.

m.mwuﬁﬁﬁﬁzaﬁ\ﬁm 5

(®) Y & Co. undertook a contract for Rs. 15,00,000 on an

3138

arrangement that 80% of the value of work done as certified
by the architects of the contractee, should be paid
immediately and the remaining 20% be retained until the
contract is completed.
In 2014 the amounts expended were : Materials Rs.
1,80,000; wages Rs. 1,70,000; carriage Rs. 6,000; cartage
Rs. 1,000; sundry expenses Rs. 3,000. The work was
3 P.T.O.
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certified for Rs. 3,75,000 and 80% of this was paid as
agreed.

In 2015, the amounts expended were : Materials Rs.
2,20,000; wages Rs. 2,30,000; carriage Rs. 23,000; cartage
Rs. 2,000; sundry expenses Rs. 4,000. Three-fourths of
the contract was certified as done on 31 December and
80% of it received accordingly. The value of work in
progress uncertified was ascertained at Rs. 20,000.

In 2016, the amounts expended were : Materials Rs.
1,26,000; Wages Rs. 1,70,000; cartage Rs. 6,000; sundry
expenses Rs. 3,000 and on 30 June the whole contract
was completed.

Show the Contract Account and also the Contractee’s
Account as would appear for each of years in the books
of the contractor assuming that balance due to him was
received on completion of the contract.

Y & Co. X 15,00,000 o T Uk A= frdr | e
ue &t & of frg o, st 3@eEr & aRgdR a0
YT BT %, & T &7 80% N A o o €
T 9T 20% JTEH T BN T AT AW |

2014 ¥ =g & T TR & : qeEl 1,80,000 To;
Tl 1,70,000 To; TATE 6,000 Fo; WIFT 1,000 To,
fifeer =@ 8,000 To | 3,75,000 To H FHE WA

4




Wfﬂﬂﬁso%w,aﬂﬂﬁ%a@ﬂ,w

ﬂwﬁmmtmﬁﬁqﬁmﬁﬁmﬁo
90,000 @1 fREfitd ESML
9016 , AT 1.26,000; EIEL B0 1.70,000; STTS1
0 6,000; e = $o 3000 T 30 I H FTFA
Clia el
@mmmwmmwﬁ
wmﬁgmﬁﬁuﬁa&m,uﬁmﬁg&
ﬁmﬁwmmwéﬁmaﬁmﬁr
el 10

2. (a) What s absorption of overheads? Explain briefly methods
for absorption of Office and Administrative overheads.

(b) The total overhead expenses of a factory are Rs. 4,46,380.
Taking into account the normal working of the factory,
overhead cost was recovered in production at Rs. 1.25
per hour. The actual hours worked were 2,93,104. How
would you proceed £0 close the books of accounts, assuming

3138 5 PTO.
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that besides 7,800 units produced (of which 7,000 were
sold), there were 200 equivalent units in work-in- progress.
On investigation, it was found that 50% of the unabsorbed
overheads were on account of increase in cost of indirect
material and indirect labour and the remaining 50% were
due to factory inefficiency. Also give the profit implication
ofthczmthodsuggcstcd.

wmﬁ%@im&am,ﬁ,ssoao%nmﬁ%
Frr o @ A & aufta W S
ﬁ1.25509ﬁrma%i%miﬁﬁh$1ﬂmlﬂﬁ%
arefa® T0C 203104 o\ o E A g &
mmﬁ.mmﬂg&%m&wwﬁm
waﬂﬂmm(ﬁﬁ%mofmmwm
Wmﬂﬁﬁﬁaeﬂmﬁ%wﬁamww
f or-orasifa SaRedl i 50% Froreer arElt A
o T S A A G & B o7 T 9% 50%
e S B FOT A fftr & @S
frfeard @ ot AR 10

Or (GIW)

(a) What are the methods of secondary distribution of

3138

overheads? Explain these methods briefly for reciprocal

services. _

3ufterdt Wﬁa@fﬁfaﬂrﬁw%?m

ot & Rl g R Y e X w8
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®) A manufacturing unit has added anew machine to its fleet

3138

of five existing machines. The total cost of purchase and
installation of the machine is Rs. 7,50,000. The machine
has an estimated life of 15 years and expected 10 realise
Rs. 30,000 as scrap at the end of its working life-.

Other relevant data :

Budgeted working hours is 2,400 pased on 8 hours Pt
day for 300 days. This includes 400 hours for plant
maintenance. Electricity used by the machine is 13 units
per hour at 2 cost of Rs. 2 per unit. No current is drawn
during maintenance. The machine requires special oil for
heating which is replaced once every month at2 cost of
Rs. 2,500 on each occasion. Three operators control the
operations of the entire battery of six machines and the
average Wage per person is Rs. 450 per week plus 40%
fringe benefits. Estimated cost of machine maintenance
is Rs. 500 per week of 6 working days. Dcparhnental
and general overheads allocated to the operation during
the last year were Rs. 60,000. During the current year, it
{s estimated that there will be an increase of 12.5% of
this amount. No incremental overhead cost i envisaged
for installing the new machine. Compute the
compreﬁensive machine hour rate of recovery of the

running cost of the machine.

1 PTO.
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s Popfolt e 3 oo e fre A @ 92 H O
& Tt St & 1wt & qR e S = B E
AT 7,50,000 Fo T | WA BT FGACI A 15 T
¥ qur 9Ed A H@ & I S FAE A
30,000 Fo AT & |

H WS S

300 foe 3 ot & ey SRR R 2400 o AR
=q 400 T2 Wa & @A B W ¥ WE T
wga fae 15 e wiy guaT, 2 Bo gfy g B T
F ¥ | TETEE & A0 R gE A6 o ¥ i
3 mf =0 3 B v R AW 9g A b o
mzmaoa%mm.mm.mmtn

.uﬁszqﬁaﬁeﬂ#qﬁammtumuﬁr

¥ aEd 30T 450 To Wi wAE € TN 40%
mmﬁ&aﬁ%nsmﬁwmm%m
aﬁmﬁamﬂﬂwaﬁmsoomhﬁw@aﬁi
FrfaTs @ SEea RAEeiE F@ e ufted
so,oooao&mgqn%ﬁsmaﬁwﬁlm%aﬁq%
Ml.ﬂmﬁwmmﬁﬁimm
aftsfaa T ¥

g & aRes ar @ Rl s e g
Eeaiud 10




incostaccounts‘?

wﬁﬁﬁ*mm*m'aﬁmﬁmm

AR B A < P H _ 5
(b) What do you understand by overtime premium in cost

accounts? What is the treatment of overtime and how t0

oonn'olit?Thetimwdofaworkcrshowst}mtmanomnl _

week of 40 hours, he worked for 52 hours at the rate of Rs
15 per hour. Taking overtime premium at 100% of time
rate, calculate the amount of gross Wages

T At § S fifg ¥ T TN FuEa &
S ® SER &= frar ¥ EE A fe
mmmtnqsaﬁar&a‘?wmré@rmm

or (sw@)
(a) State the basic points i Halsey Incentive Scheme. What

are the advantages and disadvantages of the scheme?
e e ae & ww fage W fafad
v & W A gt = ¥ 5
(b) Xisapmd\mmanuhcmﬁdoutofﬂ;rceraw materials,
M.NandO.Eachm:itoerequires 10kg,8kgand6kg
3133‘ p h PTO.
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of M, N and O respectively. The re-order levels of M and
N are 15,000 kg and l0,000kgrcspecﬁwlywhﬂeminimn
level of O is 2,500 kg. The weekly production of X varies
from 300 to 500 units while weekly average production is
400 units. The following additional data are given :

M N 0O
Reorder Quantity (kg) 20000 15000 20,000
Delivery (in weeks)
Minimum 2
.Average 3 5 4
Maximum 4 6 5
Compute :

(i) Minimum stock level of M

(if) Maximum stock level of N

(iii) Reorder level of O

(iv) Average stock level of M.
@mxmﬁqhﬁwaﬁhmqﬁﬁm.nmo
ﬁﬁmrm%nxaammﬁummoaﬁr
s 10 fRRro, 8 o T 6 fruTo T AT
e B M N & TR e &AW 15,000
ReTo @@l 10,000 fuTe ¥ &K O FH e &
2500 fmTo ¥1 X @1 wraies S 300 &/ 500
wprEdl RO FE s SrEa qres
mm4mm€%lﬁqaﬁﬁﬁ_mw%=

10




M N 0
qA: SR == (Remo) 20000 15000 20,000
ey )

e 2 4

i 3 5 4

wftrmad 4 6 5
T BT

() M@ Fram T T

(i) N iftrpe Fe T

(i) 0 &1 I IR T

(iv)M &1 e @4 w1 10

_ The following figures have been extracted from the Financial
Accounts of V Ltd. for the first year of operation :

Direct Material Consumption - Rs. 50,000; Productive wages :
Rs. 30,000; Factory overheads : Rs. 16,000; Administration
overheads — Rs. 7,000; Selling and distribution overheads —
Rs. 9,600; Bad debt written off— Rs. 800; Preliminary expenses
written off — Rs. 400; Legal charges — Rs. 100; Dividend
received — Rs. 1,000; Interest received on bank deposits — Rs.
200; Sales (12,000 units) Rs. 1,20,000; Closing stock of finished
goods (400 units) —Rs. 3,200; Closing stock of work-in-progress
— Rs. 2,400.

The cost accounts for the same period reveal that direct material
consumption was Rs. 56,000. Factory overheads is recovered

3138 11 P.T.O.



at 20% on prime cost. Administration overhead is recovered at
60 paise per unit of production, Selling and Distribution
overheads at 80 paise per unit sold. Prepare Profit and Loss
Account as per financial records and as per cost records. Also
reconcile the Profit as per the two records.

v ﬁfo%ﬁﬂamw%maﬁ%faﬁﬂﬁam‘f%ﬁw
s Ry 13 ¥ ¢

gerer Tt IR 50,000 o; IEH HAG] 30,000 FO;
T SIREA 16,000 To; FEFTH IqRerT 7,000 To;
fappa @ faaor IYRET 9,600 Fo; TAT HOT JrfE
800 Go; ST T SRIET 400 Fo; EH IH 100
Fo; I AT 1,000 To; o STHT T Wt = 200 %0;
R (12000 ZTE) 1,20,000 Fo; AT AT T e ©iF
(400 TTE) 3,200 To; TR 7 T ST Vid 2,400
%o |
aﬁm%maﬁ%wwﬁsmmw
56,000 To & | FRE@M IRAT qW T & 20% W
mw%lmwﬁmﬂuﬁfﬁrﬁwsoﬁ%
%maﬁt%ﬁmwﬁmﬂrwﬁmaeﬂ%uﬁraﬂ’r
ﬁm%mm%lﬁeﬁaﬁﬂﬁmmﬁm
%wmﬁmmiﬁﬁaﬁ%maﬁr
gorere o @i | 15
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or ()

(a) Distinguish between product costs and period costs.

®)

3138

ST AT an dar we Az AR 5
VK Works can produce 60,000 units per annum at its
optimum 100% capacity. The estimated costs of production
are: Direct Material Rs. 3 per unit; Direct Labour Rs. 2
per unit; Indirect expenses : FixedRs. 1 ,50,000 per annum;
Variable R, § per unit; Semi-Variable Rs. 50,000 per annum
upto 50% capac_ity and an extra expense of Rs. 10,000 for
every 25% increase in capacity or part thereof. Factory
produced only against orders and not for own stock. The
management desires o ensure a profit of Rs. 1,00,000 for
the year. The produmm programme of the factory 1s :
first three months of the year — 50% of the capacity;

remaining nine months — 80% of the capacity.

Work out the average selling price at which each unit would

be quoted. Ignore selling and distribution, administration
overheads.

AT S G W F @ VK T& 60,000
e uRr af & SEET W aEd ¥ AR B
g A § ¢ S W 8 %O wfr gE; T

13 PTO.




w2$ouﬁrw@;mmw1,so,oooaouﬁr
aﬁ:qﬂaﬂmﬁasmwﬁrmﬁ;mﬁqﬂaﬂﬂﬁﬁso%
maﬁso.oooso'gﬁaﬁahmﬁg@ans%
a1 wad W & e ¥ 3RE W 10,000 To T 3AEH
mnmﬁwmm%mmt
mﬁm%mﬂﬁlwﬂm%%mopoo
S0 sy @ F W GhARET ® | HR@M F S
mt:a&a‘,meﬂwnﬁmﬁw%;m:ﬁ
qﬁ%mmao%mmqﬂmmm
mﬂﬂmﬁm,ﬂmﬂmtﬁﬂ
aﬂrﬁm,mﬂﬁﬁmﬁmﬁWW| 10

5. Product X is obtained after it passes through three distinct
processes. Following information for week ending 31 October

isgiven:
Particulars Process I Process II Process o1 Total
Direct Material (Rs.) 2,600 1,980 2962 7,542
Direct Wages  (Rs.) 2,000 3,000 4000 9,000
Production Overhead (Rs.) 9,000
1,000 units at Rs. 3 ecach were introduced in Process I. There
was no stock of material or work in progress at the beginning
or at the end of the period. The output of each process passes
direct to the next process and finally to finished stock. Production
overhead cost is recovered on 100% of direct wages. Additional

information :

3138
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Process Output  %age of normal Value of scrap

(units) loss of input
I 950 5%
I 840 10%
11 750 15%

per unit (Rs.)
2
4
5

Prepare three Process Accounts, Abnormal loss/gain Accounts,

Normal loss Account. 15

mxﬁ#ﬁﬁﬁm%gmﬁ%mmﬁm
¥ 31 o @ G wae & g e e S

% :
fAae el WRem O WeeAT Ol W
yee qeelt (%o) 2600 1980 2962 7542
yaw wegl (50) 2000 3000 9,000
g ke (%) 9,000

miﬁsmqﬁ?m{aﬁﬂﬁmommmﬁ
ﬂilmﬁr%mﬁmmﬁmﬁmﬁémm
sreffafifa oare w8 dr) SE gt N IR WY
srrehy wfwar F o ¥ alR R o § dOR AW @ ®IE
ﬁlmﬁaqﬁmmmwg{&arloo%mm

) wfefEe gad ¢

o SQEA aEE @ e e 5T
() w0 wlowTE uf TEE (o)

I 950 5%
I 840 10%
I 750 15%
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(c) Slow, Non-Moving and Obsolete materials.
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9 F HF IR A siea £
TR HAgeieT & T Bt gy &1
T T QU 29 i aE R s

1. (a) An economy consists of two sectors— manufacturing and
agriculture. To produce one unit of manufacturing output, ’:
0.1 unit of manufacturing goods and 0.01 unit of agriculture I
goods are required as input. One unit of agriculture output
requires 40 units of manufacturing goods and nil units of
agriculture goods as inputs. A unit of manufacturing goods
requires 4 man-hours of labour and a unit of agriculture
requires 100 man-hours of labour. Calculate the total labour
requirement if 50 million units of manufacturing goods and
2 million units of agriculture goods are used for final
consumption. Supposing the wage rate is Rs. 10 per man-
hour, calculate the equilibrium prices of manufacturing and
agricultural goods.

T FGTRT F & @S ¥— e qur iy | Pl
SIE &I UH B3 ST St & forg Pmfoft awer 2
0.1 HE AR FA 71T ¥ 0.01 THE I AW B w
H AEYEE & | HY SO H uF 35 B forw Fmion
A W 40 FHEEAT SR W AW B g 5w W
SAYEHAT & S & w9 7 | Pl e # o =
& o9 & AR A 62 K R A gH T F 100

2
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mﬁaﬁ%aﬁmam%xgama?tamamaﬁ

ma&ﬁquﬁﬁwﬁwa&soﬁmﬂﬁrﬁaﬁh

ﬁﬁa@ﬁaﬁ2ﬁﬁmﬁémﬂaﬁa@%m

:;q'!?rﬂﬁanqﬁaﬂmﬁswthtwmﬁgﬁf

mﬂaﬁa%nmmﬁﬁwaﬁaﬁmaﬁ

Frat @ P 6
Or (sw)

(a) Youare given the following transaction matrix for a two

3139

sector economy :
Sector Sales Final Gross
I 11 Demand Output
Purchase
1 4 3 13 : 20
11 5 4 3 12
Primary
Input 11 5

(i) Writethe technology matrix.
(i) Rewrite the new transaction matrix when the final

AR
Sector Sales Final Gross
I II Demand Qutput
Purchase
1 4 3 13 20
I < 5 B 3 12
Primary
Input 11 5

3 PTO.
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Or ()

(b) A transport company uses three types of trucks T , T, and

T, to transport three types of vehicles V, V, and V,. The
carrying capacity of each truck in terms of three types of

vehicles 1s given below :
v, e v,
T, 1 3 2
T, 2 2 3
& 3 2 2
Using the matrix method, find :

(i) The number of trucks of each type that are required to
transport 85, 105, and 110 vehicles of V|, V, and V,
type respectively. -

(i) The number of wehicles of each type which can be
transported if the company has 10, 20 and 30 trucks of
each type respectively.

T JEEAE &9 a9 R 3 5 T, T, T T, |

 yeR @ migd v, v, 79TV, & qReeT S

W% & B &Fa a1 ¥HR S mieat & oy A &

LR

VI VZ Vl
7, . 3 2
7, 32 2 3
7 g 32

P.T.O.
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(iv)
)
(vi)

(vii)

(i)

(ix)

Does the problem have any alternative solution? If
s0, show one such solution. '
Indicate the shadow prices of three departments.
If the company ~wishes tO expand the production
capacity, which of the three departments should be
given priority?

If the wnm?pro@ccsthjmcﬂxmimofx,,how
many units 'oi‘x,_a‘nd x, shall have to be reduced, if
any?

If a customer is prepared to pay higher prices
for product X5 how much should the price be
increased 8O that the company’s profit remains
unchanged?

indicate whether fhe solution given in the table is
degenerate. If yes, which variable is degenera-
ted?

Max Z= 15x, + 12x, + 11x,

subject to the constraints :

3x, +4xz+5x, <63 (ho , Deptt A)
ax, +x=+4x,$64 (hours, Deptt B)
3, +dx, +2x,5 40 (hours, Deptt C)

Xyp Xy %y & 0

9 PTO.







(%) ﬁmﬁmwmﬂiﬁmmm%mﬁ
ﬁ.ﬁﬁwﬂ-m%? 12

() A food company-musl produce 200 kg of a mixture

consisting of ingredients X and ¥ daily. X costs Rs.3perks
and Y Rs. Spcrkg.ﬂomtmanmkgof}i’canbe used
and at least 60 kgof‘Ymustbe used. How much of each

(b) A manufacturet pmd:wweemdclsot‘uekkingbicycles,

3139

Model A, Model B and Model C, whose selling prices Per
unit are Rs- 6,000, Rs. 7,000 and Rs. 10,000 respectively-

11 PTO.
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capacity (bicycles per hour) of assembling, painting and
packaging of each model is as follows :

; Capacity per hour
Machine Model A Model B Model C
Assembling 30 25 30
Painting 20 25 25
Packaging 50 50 25

The manufacturer possesses only one of each type of
machine. Cost per hour to run each of the three machines
is Rs. 1500 for assembling, Rs. 2000 for painting and Rs.
2500 for packaging. Formulate LLP to maximize profit.
Do not solve,

s il 3T aafve @ &= sieq, #sw A, disw
B 4T WS C, & T & W@ ¢ | ¥y 7 F
6000 TYA, 7000 TIX TAT 10,000 TIA & | FAl & BT
&\ AR HHST: 3000 SI, 4000 TYX FAUT 6000 T ¥ |
AT HisH B THT B @I, TNE - qar YT &l
e (Gmsfhe wiey =oen) & T R

Capacity per hour
Machine Model A Model B Model C

Assembling 30 25 30
Painting 20 25 25
Packaging 50 50 25

12



3, (a) A machinery costs Rs. 12,000. The total cost of operation
from the time of purchase uptoatime tis givcnbythe
function : 20 15¢. 1f the machinery is sold as scrap
after { years, the resale value is given by the function
6880 — 60¢. Find the optimal time for replacement of the
machine.
@mmw-u.mm%im%wﬁam
t mﬁmﬁm‘a&aﬁmw 20/ + 15t ®
& ¥ AR ﬁwqﬁqaﬁmﬁaﬂrm
3 oy T A T P9 6880 — 60F & feam STl
3| e & FEEA B I gug Pefegl 6

(a) A monopolist hasa demand curvex = 219 —3p and average

oostcurveAC-S-t- [:;Eg) where p 18 thepriccpcrkgand

x is the number of kg of output. Determine the output at
which the mx'nfnlnpmﬁtcanbccamed.

3139 13 P.T.O.
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@?@ﬁqu’mwﬁzm-@%aﬂreﬂw
maac=s+(%) 8, e p T wir feet e .

ma&nﬁwﬁﬁﬁﬁuwmﬁmﬁ&m
W AHTH T FHr 9T T 6

(b) The demand functions for two commodities x, and x,

in terms of their respective prices P, and p, are given

by:

x = phPta Xy = p,"2ehpite;

wherea,, b, ¢, a,, b, and ¢, are constants. Find the four

partial marginal demand functions and determine whether

the commiodities are competitive or complementary.

a’ra@sifx,amx,%#hwm ST qwdl p, wur

P® W e ¥

x = pthPate X, = py bt

el a, b, ¢, W a, b, c, N ¥ 1 AW il dare

A e e ofve s @ s et hvd

qr IF | 6
Or (3rgan)

(®) A firm manufactures two types of machines x and y. The

cost function of the firm is given by C(x, y) =x*—xy+2)2.
If a total of eight machines are to be produced, how many
machines of each type should be produced, so that cost of
production is minimized. [Use Lagrange’s multiplier.]

14
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@mﬁxamy,amﬁqsﬂﬁfmwmmrgf%u
wﬁmmmﬂ%qx,y)ﬂ!—xynf.uﬁ@a
mmﬁmmm%a’tﬁmaﬁﬁﬁﬁ-
frae el SaTes Foi Wy Prew IEEd
e 817 (aﬁawaarmaﬁl) 6

(c) A monopolist firm produces commodities of two types x,

and x, at constant average cost of Rs. 2.50 and Rs. 3.00
per item :espectwely If p, and p, are the prices charged
and the market demands are x, = 5(p, - P,) and x, =32 +
5p, — 10p,, find the prices of the two commodities for
maximum joint monopoly profit.

s TR B 250 T 3R 3 Tud i TS @
Wmmﬂaa@xlﬁxziﬁw
ﬁﬁf%lﬂﬁp,ﬂpﬁﬁ%ﬂ?ﬂ'?ﬁﬂtmﬁxl
=5 (p,—p,) T % =32+ 5p, - 10p, ¥, & SHfEEETT
s R S Ry A Tl ® g T
i | 6

Or (saa)

(c) For the production function g = AL°KP, show that the

isoquants generated are always negatively sloped and
convex to the origin.

wmg-&mﬂ%mﬁ@mﬁm
isoquantssimrwﬁmaﬁfamqgra% AR I B
gl 6

15 ' PTO.




4. (a) ABC Ltd. has approximatcd the Marginal Revenue

functions for oné of its products by MR = 20x — 2x*, the
narginal cost function is 2pPrO o iad by MC =81~ 16
+ 2. Determine the profit maximizing output and the total
profitat the optimum output, assuming fixed cost Zero.
Aacho-?fﬂﬁt{a?m%ﬁﬁwww

respectively- Determine the cofisumer’s surplus and
product'smpius.
@aﬁﬂmﬂmﬁﬁmémﬁwqﬁm
A § ¢

mmmmmﬂmmﬁﬁw

) IftheMRi‘\mcﬁmforaproduCtis

3139

MR =3 + €™

16



where x 18 number of units produced, determine the total
revenue from the sale of 100 units of the product.

uﬁ@mﬁmmw%m 3 4 00 W X
mﬁﬂﬁmﬁaﬁtm%a’tmaﬁ 100 THTE!
Wﬁ'ﬂjﬁmﬂf-ﬁmi 6

(b) Find the clasticity of substitution for the production

function:

02 081
T :

5. Attempt any three of the following :
fpr 7 @ Tl A  H ¢ 5%3

() According 10 the will of 2 man, his life insurance of Rs.

' 3139

50000 should be deposited in a bank soon after his death.
The bank has to pay Rs. 8000 annually to his heir. If the
interest is 5% p-2: compounded continuously, how many

annual payments could be made?

17 PT.O.



o i B Al S S S g & T
mahﬂﬁm%so,oooa@m%%ﬁma%%l
%mﬂmﬂ%s,ooomaﬁﬁmmMaﬁ
ﬁ%luﬁms%mﬁﬁaﬁ%mmtﬁr
fery A feed & < Al &7

(b) A debt of Rs. 5,00,000 due 5 years from now and Rs.
s,w;mdxnlomﬁommwismbemidbyapaymmt
of Rs. 2,00,000 in two years and apayment of Rs. 4,00,000
in4yearsandaﬁnalpay1nentattheendof6year5;1fthe

rate of interest is 7% p-2. compounded annually, how much

weaﬁqﬁﬁsﬁwm%m%mﬁaﬁf@mm
79 wf a9 & @ S T fapaT BRT?

(c) Mr. X purchased 2 house for Rs. 30,00,000. He agrees to
pay for the house in 6 equal instalments in the beginning of
each year. If money is worth 6% p.a. effective, what would

be the size of each instalment?

3139 18




X TF §FHE 30,00,000 94 ¥ @l{ET | G8 I§ HBA
& YA 6 T el § 0% af & gE § & &
e gon | AR T T 6% Wiy ad e ¥,
yos frer feaelt &2

(d) A bond with a face value of Rs. 5000 matures at par in 12

years. The nominal rate of interest on bond is 12% p.a.
annually. What should be the price of the bond so as to
yield an effective rate of return equal to 8% p.a.?

5,000 $YY & e T 1 <15 12 a9 F Ry B
¥ | Sfvg YT S @ AHAE H S 12% AME & | S
 Ha T oA Wied @ T Tt # 8% &
THET & 9T W G 7

(e) A machine costsa company Rs. 5,20,000 and its effective

3139

life is estimated to be 12 years. A fund is created for
replacing the machine by a new model at the end of its life
time, when its scrap realizes a sum of Rs. 50000 only. The
price of new model 1s estimated to be 25% higher than the
price of the present one. Find what amount should be set
aside at the end of each year, out of the profit, if it

accumulates at 7% effective.

19 PT.O.
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qmmﬁra?rqawaﬁ#aﬁrmago,ooomqsﬁ
3 qur SEE gWEr e 12 a¥ ot ¥l S
wﬂa%qﬁﬁwmﬁt@?ﬂéqﬁﬂ%aﬁ%
%ﬁlﬁ@ﬁﬁwwﬁwmmtlmwm
e faw 50,@5@%1%%%@%%
¥ 959 wferw e & IAAH ¥ 1 AR TE 7% Tl T
%ﬂﬁ%a’tmmmmﬁ%muﬁmﬁ
o st P @ S AR
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L. (a) State True/False with reasons:

HRU Wied 91/39 fafaw

(i) Third generation computers were based on
transistors.

T At & Freger oifrer w anaiia o |

(i) Multiprocessing operating system may run on
the system having two or more Processors.

A AW I Auw AW A R w
TR SR fowen e g €

(iii) A network is interconnection of computers
that enables the users to share network
resources.

T Aeah F F AW o gy @
Ewﬁhmafahwﬁza%%mm’fmm
FA ¥ gaw 9w

(iv) A derived attribute is directly stored in the

table.
O folivw daw ¥ @ wufea 2w
é[ 4

(b) Choose appropriate words to fill in the blanks:
e = e & o sugw W= qfw

(i) Operating system is ... (a system / an
application) software.

Hfﬁﬁﬁrﬁren@m(mmxwm
AR 2 |
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(ii) Hard drive is a ........ (primary/secondary)
storage device.

BE BRA THF oo (TAT0F/ 1)
©R feansyg 2 1

(i) In a ... (ring/star) topology all the
computers are connected to each other
through a central network hub.

e (FO/RR)  AdicliSit ® Wt HPRRET
g A & H<9 12q5 g6 g0 @ e
(4l 3

2. How do the different functional components of a
computer system interact with each other for data
processing?

TR NAfAT F Y T el wonet & fafe

FATHF 92 fFE TR g ¥ dt fF w1

g2 6
Or (3ran)

How is an application software different from a system
software?

faen aiRaE TeidhTe gRam ¥ Y yeR fis
arar g 2 6

3. “A tree topology connects a number of star networks
through a central cable.” Do you agree? Explain
advantages and disadvantages of tree topology.

-8 L 8
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“gey ISt TH FET Fad H OFEEA § FE ORI

Jead F Sear 2 17 4T Y GeHd § 2 g& arararsi

¥ enw-gi wHEE | 6
Or (4T

Compare client-server computing architecture with
peer-to-peer computing architecture.

peer-to-peer computing architecture ¥ WY client-
server computing architecture @ AT HfY | 6

4. What do 'you mean by a database system? How is it
different from traditional file system?

TR WOt | 9 FAT HFA 7 URWRE wEA
Yot § T8 R i g2 6

Or (394
Explain the following types of relationship wth

example:

(a) One-to-one

(b) One-to-many

(¢) Many-to-many.

e waall % Pefefe sl @ dkww
A —

(a) U%-8-U& (One-to-one)

(b) TH-H-34F (One-to-many)

() HAF-W-3e% (Many-to-many). 6
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@4t ¥y & I Al
gt 7o F 3F THAE
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(b)

()

(b)

2. (a)

(b)

2
FA AheE & AUFR IR el g | 8

What is statutory audit? How is it different from
internal audit?

o AHEo w1 A 82 <R sFaw J
T% foFg waR fa 22 7
Or (39gen)

“Detection and prevention of errors and frauds is
the main objective of auditing.” Comment.

“Ife R dEwd w1 wa @ sk swE

UFam 3ihem 1 767 R¥g £ 17 fravit Fifed |
8

Differentiate between Vouching and Verification.

TG a4 FA9T o 39T S | 7

Define Insider Trading. Why is it considered
illegal and unethical?

TEt Afeaw =R w oRwfva S | 3@ 997
Nt qor sfass Twer o 8 2 8

What are the provisions of Indian Companies Act,
2013 on class action?

YRt FeE sifufram, 2013 F Toifg sefaEt w
T YEYH § ? 7

Or (FeE)

“The Enron scandal is one of the largest in the US
corporate history.” Explain.



3 3141

“ardEt frmdta sfaee # A i 9ol a8 3

A T §17 wHEE | 8
(b) Role and provisions related to Independent
Directors.

oA fevs § gy e @ sE@aE e 7

3. (a) What are the provisions of clause 49 on
composition of BODs and audit committee?

si¥e wfufd 91 BOD & a4 W ¥R 49 F

1 @A § 2 8
(b) Agency theory versus Stakeholder theory.
wh fagra 9w REdest faer | 7
Or (319N

(a) The Companies Act, 2013 makes comprehensive
provisions concerning CG. Explain some of its
salient features.

wrft sifufram, 2013 3 CG ¥ gwf¥a 9%
yEauE S § 1 §E g9 ged favware &

HHETE | 8
(b) Functions and benefits of Credit Rating Agencies.
afez W W=t & Fd a9 a9 | 7
4. Explain:
LRI

(a) Harshad Mehta Scam
PTG
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(b)
(a)
(a)

(a)
(b)

(a)
(b)

3. (a)

(b)

4

Carroll’s Model of CSR.

g dga #ie

CSR &I 3@ &1 ufeet | 8,7
Or (A9a)

Cadbury Committee Report

Differentiate between cost audit and management

audit.

et afifa 3 ARG
TN GG q°T T SHau F AT F |

8,7
Deontologists regard consequences .as morally
irrelevant. Do you agree? Explain.

srerfag frewel it fawaw somifs e

FT A9 W § 7 auTmEY | 8

Principles of Business Ethics.

FrEafas Fifawmrs & fagr | 7
Or (319

Explain the concept of Triple Bottom Line and
CSR.

CSR au feuer sfew @A & Hahegd @t
T | 8

Differentiate between Ethics, Morality and
Values.

Aiferae, Hfaewar qun qedt F aFade FwR 7
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(c) m- > "'a"'!l'(;;uestioﬁsm:

5

gﬁawﬁmﬂrmwm
% 7 o =P @ A RS e
s & dea G & g o B

2




(c)
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XYZ Ltd. Pune tnakcs the following supplies

during the year 2018 : _ S5
qwms‘ésiﬁwg&raézom%ah:r
S. No. Particnlais Amount (3)
%o Ho  fygyor B ()
1 Supply of Taxable Goods 5,00,000
HT AT HIw F agfet
2 Supply ﬁhmpt Goods 2,00,000
T o
3 Inter- State Supply of goods 3,00,000
FIST B SRS aafs
4 Export of Goods 5,00,000
. AT B Pt
5 Outward S’@ly under 4,00,000
IR gy % TET ared
(o) g
6 Inward supply under 5,00,000

reverse charge
S 91 F dma oraf
(o) s

3 PT.0.




nce to the registration
isin State of Jammu

X diffefe

if company
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under GS’ ired or not in following
cases : 5
fr=fferd "-".j'- _Lit Fogd & qBd qsﬁ?-b’{"T

. 5 P.T.O.
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(i) Mr. P, a qualified Chartered Accountant
based in Manipur is employed as Audit
Head of ABC Firm, drawing a salary of ¥
50,000 per month. He owns a residential
property which is let out for residential
purposes at a monthly rent of T 1,50,000.
He also gives part time tax consultancy
and earns ¥ 5,00,000 per annum,

HPIgT ¥ Req o gra a@dd wwmeee A
9, T @t @ v F qJEr wgE ' H
FETE 2, S ufme 50,000 T # A9
ST A ¥ | g8 O STERE dIhT &
Hiew & & 1,50,000% & wifts fraa
B | g8 sismpfers T qumst off 3T ® o
gftas 5,00,000 T AT B
(i1) Mr. X is a retired person earning pension
of ¥ 4,20,000 per annum. He owns two
buses engaged in providing
transportation services to local school for
transportation of faculty, staff and
students for which he charges 2,00,000
annually per bus. He has fixed deposits
in banks earning annual interest of ¥
10,60,000.



(b)

A aHe |
Give a list of Ten items of goods which are
exempt from tax. Also state provisions
relating to edueation services which are
3
2, P SErel @ weraq IO gEE A2
R BT B B2 o< 2|

exempt from tax.

7 P.T.O.
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(c) ABC Limited manufacturers 3000 units of

product having assessable value @ ¥500 per
piece. ABC Limited sold 1600 pieces in
Domestic Tariff Area (DTA) and balance 1400
pieces were exported. If the rate of SGST &
CGST payable is 9% each. Cakmlal:e GST on
outward supplies of the following : 5
o &t &t fio Fremett & ITE sooosaaézﬁ
WWW@?SOO@W%IQ&’T@ 3

o 3 mxa 2Rvw A (& & ©) ¥ 1600 3

I & 59 1400@%%«:%
S (SGST) it dofiad (CGST) #
a'q = 9% 3| Prefefag @ TBd omIRl W
(i) Supply of 1600 pieces in DTA

& & o F 1600 THST H SR
(ii) Exportof 1400 pieces

8
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OR
2. (a) How the location of recipient and supplier of
services is defined for the purpose of
determining place of supply in case of
domestic tramsactions ? Also state the

general provisios

Sions for place of supply of
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S. No.

HHIH

Particulars Value of
Supplly

faaTor amafd @1

g5

Rate of GST

Sraedt
#H TX

Supply of 18,00,000
manufactured

goods

e aeged &

Supply of traded 22,00,000
goods

O H

&1 maf

Supply of 25,00,000
manufactured

goods

Fftfe = =

Supply of traded 10,00,000
goods

T & T

F egf

10

12%

12%

NIL

NIL
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Explain with reason the eligibility of Mr. Arun
to opt for compeosition scheme. Also calculate
his tax liability if he opts for composition
scheme. '

TEAT AT @ =999 3 fow o or@wr i
qrgar & HES FOd | A g8 =T A
F farey B & O SEHT BT a4 B A
TOTAT B |

Mr. X, a registered person supplied goods to
Mr. Y, also a registered person. From the
following details determine the time of

‘supply : - S

o wg us Geipa =R B o o aE &t
2 Fafafes BEor @ smgfld &1 993
Freffea &ar & 0

S. No. Particulars Rate of GST
wais  fEEe sfraedt =
ax
1 Date of removal of goods 18-11-2018
A e 0 ot
2 Date of issue of invoice 28-11-2018

i P.TXO.
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3 Date of payment entered 30-11-2018
in the pooks of account of X
‘m%@ﬁ%ﬁﬁ
ymﬂﬁmﬁﬁﬁ

4 Date on which amount s 01-12-2018
created in the banks account
of X '

Q%ﬁ%@ﬁw
Determine the time of supply of goods -

Waﬂ@ﬁ%ﬁﬁa’i‘{"f cadl

3. (a) what 18 Reverse Charge Mechanism?
Mention notified goods where GST18 payable

(b) ABC Ltd., & registered supplier is engaged
in the manufacture of taxable goods. The
company provides the following information
of GST paid on the input 800 s/ services

&1



o W
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u &t o fro Geima STyt HY AT A B
Pmfer & oot 22 B ®on RicEw 2018 &
TER # A Fge G/ dar 9F Ry
Soad) & FEfRE ST Ja B ©

Particulars GST paid (%)
ferazat shigEdt '{m‘am' !|
fear (%)
-  Purchases of motor 3,30,000

vehicles for transportation ) |
of inputs
II. Inputs consisting of three 1,25,000
lots, out of which first lot '
was received during the month
Fraer & 9rr & freese, e
Y gEd AT BN B AR 9
g &1 |

13 P.T.O.
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mount of Input tax credit
+ Ltd. for the month of
)18 by giving necessary

Breaer & fo  SEED
\ 2018%?{@3%%‘1
| ﬁ%m%w%maaqﬁr

ome semi finished goods for
B to Y Ltd.(joP worker ) ot
2017 and machinery to Z
e ) for fixing some technical
gptember, 2017 .Discuss the
3 jed to tax liability ander GST
in if X 1td. F sves back : 5
o o S, 2017 W arg o

o W o s @ R B S
e = of 19 ey 2017
.. = S D e, 1 o
(sﬁaraa‘a't ! Eh’(%‘qfﬂ@‘é'sﬁﬁ

15 P.T.O.
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(i) Finished goods from Y 1td. on
o o & = = e
Case I - 28 December, 2018

2@ 1 - 28 R, 2018
Case II-15" -January, 2018
Fq 11-15 srad, 2018

(ii) Machinery from Z ltd on

Case I- .‘28 December, 2018

OR

AT

3. (a) Whatdoyou mean by InputTax Credit ? What
are the conditions for availing Input Tax
Credit ? 5
ge 2u Bive 1 o A © 7 ferarer &<
Sy o N 9o & e F AR ¥ 7

16
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3. (b) What are ﬂm@uwmons regarding claim of
ITC on Capital goods and inputs lying in stock
_sem1—ﬁnzshed and finished

5
SUErl @ W 2, ﬁﬁwmﬁﬁr
i § v FEs & orf-3ur of Fuw mme

a registered person, based
3o manufacturing of Product
pds) and Product ‘B’ (taxable
sroducts are produced with
material. Aruna Limited
material of ¥ 6,00,000 from
paid CGST @9% and SGST
dakes T 54,000 as CGST and ¥
_The total turnover of Aruna
0.000 out of which % 4,00,000
Bduct ‘A’ (exempted supplies)
'i.s turnover of Product ‘B’

@9%, w
54,000 as S
Lumt&dls? 2

17 P.T.O.
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mﬁ‘ﬁﬂwmﬁm%mﬁaﬁa

SR T (FE A ) X s A (3
ma@ﬁ)%ﬁnﬁvrﬂ%li'mmwé’r
Fo T B fpe s ¥ ereon
1o %m q 600 ooo? a%tf Hel T

@Wm 540001'
Mﬁmﬁow@‘w 12'_
® BrE & 4,00,000 2 s ‘or (m= A
aﬁ)ww&msmooe?m .
‘w’(ﬁf%argﬁ)wm%lmaﬁ
& R FEsr 53 o9 & a9 o w3

4. (a) What is the time limit for issuance of_.Tax

mvmew& the following cases : > T
IEiE -'ﬂmtr?fffastw%mma%

o !ﬁfw = R

(i) Su j'_' y of Taxable Goods

zﬁr% gt @ mgfs
(ii) SmﬁTaxable Services
FT A Fareir argfef
(iii) Continuous Supply of Goods
18




(b)

(a)

13142

Under what circumstances provisional
assessment is conducted under GST ?
Discuss the isions related to tax &
of the Taxpayer on
isional assessment

een cognizable offensces &

ifences under GST? -

5

= man ot o T EEE
g7 ST |

LA =

isions related to form, due
date and s liable to furnish details of
outward s nder section 37 of CGST
Act, 2017. is the late fee payable in
case of dela ishing details of outward
supplies ? 5

19 PT.O.




|

3142
Srefirael s, 2017 # 4R 37 & e
qﬁi‘f'ﬁ|
(b) Write briefly about the Special Audit
required under GST. - :
Sredt B aeq oTave @A e A A

(c) Write a short note on E-way bills under GST.

S e £y P 9T wF dEE e

5. (a) Explaan the provisions related to
determination of Taxable event in case of
Imports & Exports under Indian Custom
Laws. S
Tl @i Sl e

(b) Write a note on Anti Dumping Duty and

Margin of Dumping. §
e |

20
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(c) Determine the taxable value of supply in the

following cases : 5
PreifeTiae AMEEl 8 SMIfT & HL AT qI W
fafor &Y ¢

(i) The US $4000 are converted into UK
£3000. The RBI reference rate at that
time for US8 is 7 70 per dollar and UK £
is T95 per UK Pound.

- FEE $4000 F TF £3000 AT ATE e
o 3 ufEi B S | IE ae gud
370 gfy =T & T gH 95 Ul TH
ass Bl

(ii) Mr. Vikas, an air travel agent provided

the following details for the Month of
January,@lQ

fifo fprd o U% w4 AET TSI B
sEdl, 2019 & wEN & fou Freafaiaa
faeer gar = |

21 T
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Amount (%)
IHH ()

Basm fare collected for

booking tickets for travel

véithinf;pdia

Basic fare collected for

booking tickets for travel .

6,80,000

qRE ® @ET a1 & R e

g & R g R
OR
STErgr

) What is the meaning of transaction value

under GST ?  What elements included in
the transaction value ? State the provisions
related to treatment of discount for the -

22

purpose of calculating the transaction value.

5




3142

Auaer ® d8d @29 geF B Fr ot B ?
AT god F B F a0 i B 7 A9-29
I B OO B Ieed ¥ gT B AR
(b) ALtd., India imported material from XYZ Ltd.
of Germany. The FOB price is T 21,00,000.
The cost of transportation is ¥ 5,45,000.
Unloading and handling charges at Indian
. portare? 1‘,90,‘(1@*35: 10
e AP B ) 0% S & gew T 21,00,000
| AREET @ @ € 5,45,000 | W 9@
§Y @fET ofie 8=l =t 2 1,90,000 B
(i) Calculate the assessable value (CIF) if
goods are imported by air and insurarice
cost is not ascertainable.
& ol dmr @ T A B

-

23 P.T.O.
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(ii) Calculate the assessable value (CIF) if
the goods are imported by sea and
insurance cost is T 75,000.

i A e (Fond @) F T

i S @ 2 75,000 B

24 8,400
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(7% 7799 3 Pt & Fwr RY 73 Al = ot
AT HFEE e )

Nore :~ Answers may be written either in English or in Hindi:
but the same medium should be used throughout

the paper.

Rt : ¥ W79 @ S S a R Bt v sy
#m&mwmwmwﬁm
qIeT |

Attempt all questions,

& 77 g S

l. (a) “Thenew GST regime is a boon for all.” Comment on the

rationale of GST in the light of the above statement.
P.T.O.
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‘wmmw%mww%r’mﬁaﬂ
m%m'im%ﬁ_fmmmmls

(b) Whatisuapmnfmmgimﬁmasgimmccsr '

Rules 20177
CGST Frasm 2017 3 Sr=wiid Gt & ufsear &0
27 5

(c) XLtd, whichis established in Gujarat, made the following
values of supplies during 2017-18:

5. No Particulars Amount (Rs.)
1 Supplyofgoods 5,00,000
2 Supplyofexempted goods 3 12,00,000
3 Supply of goods under reverse charge  20,00,000
4  Supplyof non-taxable goods : 50,000
5 Inter-Statesupplies 1,10,000
Answer the following questions:

(i) Calculate aggregate turnover of X Ltd.

(i) Is X Ltd liable for registration under GST and
why?

(iii) Is X Ltd liable for registration if operating in Tripura

and why?




52 201718 B A omuff B P
T (o)
== 3 ot 2000000
1,10,000

3

& &k = 5
- _ o
(2) “The GST Coumcal 8 @ backbone of the whole

gﬂm%r' BT FT
5

(b) In --‘L-.-".-'_' : sempulsory under Section

7796 P.T.O.




aug-n%mmmﬁﬁmuﬁmﬁ
®? 5

(c) State whether the following supplies be treated as supply \

CGST Act:
@) S,theowner of specific piece of land in Delhi, Jeases

"\
!l |
|

thcmnchforoneyearforanagrcedmsacﬁmin
November 2017.

@) X is carrying on the business of consumer dur-
able products. He disposed off 2 defective TV for
Rs. 40,000 to G whereas its normal price is Rs.
2,00000. '

@@ P is a scientist. He own$ a patent to manufac-
ture designer art papers using tea leaves. The
patent right is transferred on temporary basis 10 R
Ltd.

(iv)Yismgagedinthe supplyofoertaingood&}’{cwishes

to transfer goods worth Rs 1,00,000 to his branch in

Haryana.

(v) Adealer of machines who has availed input tax credit
on his machines, permanently transfers 2 machine

7796 4 8200



from his stock-in-trade, for personal use at his

residence.

3

6) s.ﬁﬁﬁﬂ'-@%ﬁﬁmwmaﬁ,aw
20173%6&\%%1—%##,@“&%%({@
qﬁ!a’a‘tq@ﬂtm%i

(ﬁ)xaq!ﬂzaratwﬁﬂmﬂmwwtuaﬁw
gwermaﬁea?t 40,000 To & = & TEE

(ﬁ)?@aamt;asamaﬁqﬁaﬁmmm
wmwmammmtim
axfmsﬂmﬁw% R fo # WEFRA BT

Waﬁwﬁaﬁmwﬁi
(v).ﬂsﬁﬁm@am,mﬁmﬁrmﬁ%ﬁ%m
qtaqu%mﬁ:%zawmm%, AT BRI

5 P.T.O.
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W W F 52,000 B0 I S @ ¥ GsT =

W--wm#hwm %%mla%m

2

(:)wsﬁafﬁaaﬁﬁrqﬁiwﬁf, R smofif & o
T amgfef &




0

A

7796

(i) F9T e % forq 7% s e & ar od
ST § whew wfea;

) A company involved in the supply of goods and services
furnishes the following information. Tax rate is revised from

5

28%to 12%. Tax rate applicable before 30.09.2017 is 28%
and tax rate applicable from 01.10.2017 onwards wiil be
12%. Determine in each of the following cases, the time of
supply of goods or services or both and the tax rate

Case  Dateof Due of Issue Date of Receipt

applicable,
Supply
1 10.09.2017
“. 12.09.2017
3 23.09.2017
4 03.10.2017
5 05.11.2017

of Invoice
05.10.2017
11.09.2017
01.10.2017
29.09.2017
06.11.2017

of Payment
06.10.2017
10.10.2017
29.09.2017
05.10.2017
29.09.2017

W@ﬁm#mﬁmﬁwwﬁwm
é‘?ﬁ%:mat‘zs%z?rw%#sﬁfha%:mu
30-1-2017 & 9 28% = & si @t = 1-10-2017
H 12% m#ﬁiﬁwﬁﬁmqﬂ%ﬁiww
waﬁmﬁ,mﬁwmﬁ,eﬂ?maﬁwam

Frefor i

P.T.O.



diow F YA i
Prim R R o i

1 05102017  06.10.2017
2 11.09.2017 10.10.2017
3 01.10.2017 29.09.2017
4 03.10. 29092017  05.102017 .
5 05112017 06112017 29092017
i 10
Or (3v)
() Whois alighieperson oopforompoion ey schme? |
Also specify the GST rates under this scheme.

m i& i 99T Y g o sugE
af B 82 T d @ ot GST T =
I AT 5

(b) In each of the following cases related to transactions of
goods and services, what shall be the place of supply and
type of GST chargeable:

(i) K Ltd of Haryana gets a lift installed at office in
Delhi from supplier Schindler Ltd. located in
Faridabad.

I(ix') Mr Ram is travelling from Mumbai to Mysore by
train. He purchases snacks and beverages while
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on the train. The food items were loaded into the
train at Mumbai by Shyam Bakers located in
Murnbai.

(ii)) G Lﬂmsens 30 laptops to Mr § of Pune.
The gdiﬂﬂe delivered by G Ltd. to Mr S at
Pune. 00 |

(iv) Ms Tanya of Haryana comes to Delhi to get her beauty
mmm?.ﬂhmﬂsﬂlemﬁcesathhm,m
s

(v) Mrs G of Rajesthan avails services of Ovemnite
Express Ltd for transporting goods from Rajasthan to
Haryana.

frer & & wOF WE W d & awdT 3w

# GSTwwrt & fom sl & @@= & waR T e

aifgq :

() eRamm & K e 3 wleme § feua amgfdewat
Riwet foo ¥ Rewll & ©F wafwa 7 o w@iva
FRarr ¥

(i) = T TE AT A AW A T R LN
Tamd # S @ 9 v '@l €1 @ g

9 P.T.O.




m@i,gﬂ#ﬁﬁaamiﬂmwﬁ
zr Wi % o ¥
cﬁ)wﬂeﬁogﬁ%ﬁosﬂmmm
%1 o sﬂg&iﬂﬁomm#mﬁﬂ
i ¥ |
(N)Wﬂm%ﬁﬁfaﬁﬂw%
Mﬂlﬂaﬁ,@.ﬂﬁﬁﬁhﬁwmﬂ
@ &
mm_ﬂﬁaemﬁﬁaﬁmﬁm%
w%mmmmamﬂ
I5a H § 5
© @ mmmnedmpommmnm.of
mnmﬁmusszo,ooo.smmmfm
ﬁn;mandwldthet‘nreigncmrmcy@ks.s_s
pﬂtﬁ&ﬂlﬂ-Conq)uteﬁwvalmofmabkmpply
of service under CGST rules, 2017 if RBI
reference rate for US dollars is Rs.64.10 per
dollar.
DMB o Mﬂmaﬁoﬂ@wﬁah '
ﬁﬁtlw%ﬁﬁ%masznmoammw

10




gﬁw-wmﬂrtaﬂtﬁmaﬁaﬁw—muﬁr
AR S & W ¥ A9 [ ¥ cGsT fam,
2017%;@&@@@1&?%%1@111:@'&

mﬁtﬁm@uﬁqﬁiﬁmﬁaﬁﬂw

SR Sfer = Fa 65 To B

@& US $3,000 are converted into UK £2,200. The RBI
mfuwer#lﬁtﬁmforUSSisRs.ﬁs per US
dollar and for UK £ is Rs.85 per UK pound. What will
be the value of supply?
US $ 3,000 B UK £ 2,200 ¥ uRaftfa f&ar1 RBI
# HeRiq o 98 T 4% US S 3 fag 65
To 3T UK £ 3 R 85 To ¥ 1 Mgl &1 7T 7
e ' 5

3. (a) Who is eligible to claim Input Tax Credit? What are

1796

thedoumhmdfﬁumq\mdtoclaimhputhx
Credit?

wm%&z%a&%mﬂww%?sﬂgzm
20e 3 o & g SEEE TEEE O TR R

27 5
1l PO

e
e




Particulars GST charged by
supplier (Rs)

w‘m‘lmtobeusedas

raw material 50,000

Whols 35,000

Car to be used for employees 180,000

Soﬁmwheusedmcmm 25,000

\h_lhbewedformspomﬂm

of goods 80,000

Consultancy bya chmtdﬂdwnm 7,500




wd. R amgffeet zr
- uw GST

1. e et & §9 § 9gE S
- o
2. A ST 35000
3. waiEl B g X 180,000
4. 0 g AR GF 25,000
5. W @ UREET ® {0 NgE 4 80,000

6. UH UE gmeRE W WA AW 750
7. Fafed & W T AT, A

Fo 25,000, GSTH0 7,000] TH T
W &1 W@ B 32,000 W fora 7.000
. whRd S REEE 3000
o, Piys & Bl WM 3 fag W 5,500
0. CEO® Fad ® T 2,000

FaR 2017 & % RIT ABC Rio Y ST FIE H
2fee @& AR 2 ToE FRA | 10
or (s
" (#) Give the provisions relatingtohow IGST, CGST and SGST
canbeuseduu:maﬂytochiminputtaxcrt?dit.

7796 13 P.T.O.
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T WEgE §T 6 3 IGST, CGST 3 SGST
& Y W HieZ & foy WER UG o
g 5

(b) What is the time period within which inputs and capital

goods sent for job work have to be received back by the
principal and what are the consequences if these are not
received in the time specified?

1 FHT FA & 99 WU W e @ fo S @
Hotr Yo | A g R s wsar € ofw
yRom B aft @ frafRa wwg @ § o T
famar s 5

(c) Mr P has paid input tax credit of Rs. 1,80,000 on all

goods/inputs purchased by him during the month of
January 2018. He had made the following supplies during
that month:

Particulars Value of
supply (Rs.)

Supplies used exclusively for

business purpose 12,50,000

Exempted supplies 2,75,000

Supplies used for non-business purpose 1,25,000

Goods exported (zero-rated supplies) 3,50,000

Total _ 20,00,000




Determine the amount of Input Tax Credit that is available

to Mr P for the month of January 2018 keepingin view the
provisions of Sections 17(1) and 17(2) of the CGST Act.
2017.
W&zox&%&naﬁPaﬂ%mgﬁwmﬁx
Y @&l 9T 1,80,000 o YT & Bfee Fr
Wm&hw%ﬁm%@ﬁﬁqw&ﬁfﬂfﬁ
% .

Ry ww
ot ()
A T & T g 12,50,000
g gt 2,75,000
R o # v amfy ; 1,25,000
Frafa = (g7 =2 smef) 3,50,000
ky 20,00,000

CGST aiftifm, 2017 & &= 17(1) &R 17(2) #r =
¥ @ g firo Pa?rma&mma%msﬂgzw
%&za&uﬁraﬁwﬁ&m 5

‘4. (a) PLtdstarted business of supplying goods on 20thMay 2017.

7796

In July its turnover was Rs. 18,75,000. On 5th August 2017,

15 P10
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its turnover exceeded Rs. 20,00,000. He applied for

registration under GST on 29th August 2017. On 4th

September 2017, certificate of registration was granted-

Answer the following questions on the basis of information

given above :

() Whatis effective date of registration?

(ii) FotwhichiSperiodisPLtd.mquiredtoissucrcv‘iscd
tax invoices?

(i) What is the last date of issue of revised tax
invoice?

Pm%mmﬂwwm 7, 2017 T WTH

S B e & T srad 18,75,000 To &1 5

ST, 2017 T TEH e TR 20,00,000 T° Al

29%,2017ﬁaﬁ6ﬂ$mﬁﬂﬁaﬂﬂ“%§;

s fean) 4 A 2017 2 Gl & WA



(i) RaTe & Ty @ fofaw ot s Rl =

& 5

(b) What is due date of filing Annual Returns of GST? And

what are the rules of late fee in case of delayed filing of
Annual Return?

GST & s faawh wo & sdfea fifr @ &7

aifttes P & Refed 87 & wra § e g6 @

foram @ ¥2 5
(c) Write a note on ‘Zero rated supply’.
‘g1 < ol W @ fafea 5
O (sre)
(a) What are the provisions related to Credit Note and Debit
Note?
afte Fie @ M e | F=foa yEge 74
g7 10

(b) Write a short note on anti-profiteering measures.
R-wam SuE W s feuedt R 5

5. (a) Give few cases where GST is payable by the recipient of

service under reverse charge.
Ay O T AR AT R At B owrt A
FA I B GST 37 &\ 5

7796 17 P.T.0.




(b) Determine the CIF and assessable value from the following

details:
S.No. Particulars Amount
) (Rs.)

I Valueofthegoodsimported 20,00,000
I wmwmw@m 400,000
M BuyngCommission 2,00,000
IV CostofFreight (air) 3,50,000
y  Costof Insurance (not determined)

vl Landing charges 0,000
Py gaat § CIF @ frafor @ H TN
Hfg -

wd. R(®o)
[ e W @ @ 20,00,000

i S e A 400000
m  Eie W 2,00,000
v arg Wi A A 3,50,000
v o @ (Frefer &)

y1  dfeT =™ 80,000

5

(c) Describe briefly the meaning of Indian T itorial Waters
and Indian Custom Waters under the Indian Customs
Act.

e d g S & e e W

Ik wd WA TR 9@ % o @ e |

qaaEg | 5

7796 18
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Or (3rgn)

(a) Mr G purchased a machinery for Rs. 45,00,000 on

which IGST was paid @18%, i.e., Rs. 8,10,000. He was
a registered dealer but now he has duly opted for
composition scheme. At the time of the exercise of such
opﬁon,tlmﬂchimhasalmadybeenusedfor4yws3
months and 14 days. Calculate the amount of ITC to be
reversed.

fro G ¥ um WSl 45,00,000 To ¥ @AY Rory W 18%
1 T A 8,10,000 o IGST F TR f3raT | Gt
o & wog T o Wi A @ e R
1 ¥ dioe @ gAE X Wi Rear mar € owm,
T T & 4 76, 9 A ol 14 R wgEw @
o B ITC | Rad @ 9 awh fdr & o

BT | ~ 5

(b) What is the meaning of Transaction Value of imported

goods under Indian Customs Act? What other costs
are included in transaction value besides the price for the
goods? -

I W e st & o e a
H AT HEG B OF G 7 A9 g F
A BN B F AT FE SR A o G
87 5

19 P.T.O.




(c) Explain in brief the Anti-Dumping Duty. Also explain

7796

how maximum limit of Anti-Dumping Duty is deter-
mined.

U g @t s e Hifrg | R
7% @ dftsan @ 8 Fuffa @ ol

AR 5

20 8200
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fewuit.— 3@ o993 &7 IoX HAAW a1 <l 4l &
T F AT AfeT gul I FT ATEIT UE &
gl Iy |

Attempt all questions.
Use of simple calculator is allowed.

ot yvEl & 3R ST/
AR FeFereT F ITANT F HAC E 1

1. (a) What do you mean by investor’s education? What
are the rights and responsibilities of an investor?

P, T.0.
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(b)

2

faws @ foan A g W A 2?2 &
ﬁﬁw%wﬁmqﬁmﬁﬁi? 4

An investor wants to invest in one of the two
securities with equal returns but different proba-
bilities. Compute the expected return and risk of
both the securities. Which security should the

. investor buy?

Return (%) Probability (X) |Probability @
=5 0-2 0-1

10 0-3 0-1

12 0-2 0-3

15 0-2 0-2

18 0-1 0-3

@ﬁ&?ﬁmﬂmmt‘mnﬁmwﬁ
aﬁﬂ@ﬁﬂﬁﬁﬁﬁ%mmmﬁuﬁ
sfefit & Sifaw @ Il S F
aﬂmlﬂmmwgﬁraﬁﬁamzmaﬁam

(a)

aifew ? 11
[ et (%) faaT (X) | ST (Y)
=5 0-2 0-1
10 0-3 0-1
12 0-2 0-3
15 0-2 0-2
| 18 0-1 0-3
Or (@)

What is SEBI? What are its objectives?



(b)

3 3147

SEBI ¥1 § 7 3% 0¥ & ¥ ? 4

An investor purchases an equity share at a price of
Rs. 50. Its expected year end price and dividend
with relevant probabilities are given below:

Probability | Share Price (Rs.) |Dividend (Rs.)
0-20 70 6
0-15 65 5
0-25 55 4
0-15 50 3
0-25 42 NIL

Find out the expected return and variability of
return of the equity share.

@ﬁ%msozoaﬂaﬁuamqamm
e &1 a8 0 wERE W R ST FEd
o ae & SRt Wi fY @ T

2. (a)

wifaesat 39T FHiua (To) | THW (¥o0)
0-20 70 6
0-15 65 5
0-25 55 4
0-15 50 3
0-25 42 NIL
gua s ¥ sElE sfaee @ Sfawa @
qftad-giterar &l TUHT g | 11

What is primary market? How is it different from

secondary market?
PO
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(b)

(a)

(b)

4
wofis aTeR & 7 9% fgdtds a9R § FW
fumr 22 4

Mr. X is considering to buy a bond having face
value of Rs. 2000 which will be redeemed over a
period of 5 years in five equal annual instalments.
The bond carries a coupon rate of interest of 8%.
Find the value at which Mr. X would like to buy
the bond if his expected rate of return is 10%.

fifo X 2000 To 3ifHd qea F TH afe 3 Tl
F @9 @ 8 foae o9 ad % |y § uiw
aue fEel ¥ B dm ate @O W W
8% ¢ geg ¥ia *ifae fog W fio X & afs
wiea =T afe It e 10% a9Hl &
il o 11

Or (379e)
Explain the term investment. What factors should -

an investor consider while making investment
decision?

ﬁ%ﬂﬁﬂﬁﬂﬂﬁ@{lmﬁvﬁéﬁm@
fays # F FE =E °§ TEA =9ife ? 4

A 12 % bond of Rs. 100 is available in the market
at Rs. 95. The interest is payable semi-annually.
The bond will mature in 5 years from now.
Compute yield to maturity (YTM) of this bond.
What will be the value of the bond if the required
rate of return of an investor is 14%? Should he
buy the bond?



3. (a)

(b)

mcmﬁmmaﬁﬁwﬁa&w%q@
ﬂimﬁaéahﬁmmm?meﬁqﬁ;aﬁrﬁaa
mwmﬁaénmmﬁmwﬁmaﬁ
aﬂfaamzz%%rw#ﬁaéaﬁzaowﬁr
wmwwﬂmnmaﬂaﬁmw
ﬁwwﬁﬂﬁmaﬂhql 11

=R O,



(2)

(b)

4. (a)

(b)

6 3147

What is Market Efficiency? What are its three
forms?

AR AT AT € 7 T ol WY 341 8 7 4

A company’s share is currently selling at Rs. 144.
The dividend paid by the company last year was
Rs. 9.60 per share. If the expected rate of growth
of dividend is g and the required rate of return
(k.) is 12, what will be the share price after 2

years?

TEH FA FT HY 144 To H fask W 7 | FA A
et ad wfa 3w 9.60 Fo WWW H P fawan
o1 | af sy St st gfe | W g # ek
wfawa # AEvEE W (ke) 12% 8 a2 @
qYETd AT S T 4 A 2 i1

What do you mean by credit rating? Explain its
importance in investment decision.

2fee W ¥ sy T arad 22 ﬁa?r—ﬁtrhﬁ
TES Wewl F HIET | 4

The following are the expected returns and risk of
securities A and B:

Expected Returns  Standard Deviation
A 12% . 16%
B 15% 20%

The correlation coefficient between the returns of
A and B is 0-8. An investor wants to put 40% of




(b)

7 3147

his investment in A and 60% in B or 40% in B and
remaining 60% in A. Which portfolio is better?

stafial A @ B % sifgn sk sl st
frer £

FraTe et yu e
A 12% 16%
B 15% 20%

A @ B ¥ Wawel & " ge@=-g TN 0-8
3w FATS A & 40% 70 B H 60% FAAI
40% B ¥ aur 60% A F AW wEn wwEa
F @ R 9% 2 11

Or (3%«)
What is a deep discount bond? How is the value

of such bond calculated?

iy ferde afe # §2 @ & & 0@ F R
o S 8 2 4
From the data given below, find which of the

following securities are over-priced or under-
priced using SML equation:

Security A B C D E
B 16 | 0.5 | 12| 30 1-9
Return 15 10 18 25 15

The return on market index is 12% and the return
on risk free asset is 8%.

Y fed M wiwe A, SML THEHWOT & ITE
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8

F0%, 4 Fifs e S @ afaqfa w1 e Afes
3 qun farwe od &9

wefr A B C D E

B 1.6 05 1:2 3-0 1-9

st 15 10 18 5 15

5. (a)

AR g W Wawd 12% € SR Sifem 1w
wfa W) e 8% € | 11

The following particulars are given relating to a
mutual fund:—

Opening NAV Rs. 104 crores
Closing NAV Rs. 162 crores |
Administrative expenses including

Fund Manager remuneration Rs. 253 lakhs
Management Advisory Fees Rs. 132 lakhs
Publicity and Documentation Rs. 70 lakhs

Ascertain the Expense Ratio.

uF T wE ¥ ward e 1R A e

YRS NAV To 104 FUE
sfm NAV %o 162 FS
%3 YauE & s dfed

yyEiS =4 Fo 253 W@
Yoy gele Yo %o 132 @@

FAEER g Y@ %o 70 &
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9 U Tl @R | 4

(b) Mr. X is holding shares of A Ltd. in his portfolio.
Probability distribution of expected return from
this stock and market index is given below:

Situation | Probability | Return of Return o ?f
A % Market (
Recession 0-2 10
Average 0-4 12 16
Good 0-3 21 22
Boom 0-1 27 29

The risk free rate is 6%. Assume that CAPM
conditions hold true. Should Mr. X continue to
hold this stock in his portfolio?

X 3 g SR 7 A foo F eiwmw@ ¥
W Wi% ¥ qwifqa Sawa & wigsar faao

feafe | wifgear | A =Y ot || SR &
(%) amHl (%)
e 0-2 10 10
e 0-4 12 16
R 0-3 21 22
T 0-1 27 29

Sifgn g9 W 6% ¢! TEd g€ % CAPM
fofiat g € 3 filo X &1 3 adwfed &
I ©iF T W@ @A 9ee ? 1

Or (39d)
PLT.O.
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(a)

(b)

10

What do you mean by Systematic Investment
Plan? What are its benefits?

qefiag Fraw dom & A 54 sd 27 TWH
7 @ € 2 4
Mr. A has bought call and put options both. Each
contract is of 100 shares. He has purchased one
3.months call with 2 strike price of Re. 54 and Rs.
2 as premium. He has purchased a 3.months put
option with a strike price of Rs. 50 and Rs. 1 as
premium. Find out his position and total profit or
loss if stock price on expiration date is (i) Rs. 48,
(ii) Rs. 58.

fito Aﬁﬂﬁqﬁg&ﬁwaﬁaﬁraﬁﬂ%t
mwwmos'rsﬁm%'lﬁﬁmmaa
wwﬁzaom%mu@?hﬂm
aﬁﬁa@ﬂﬁ%-s-ﬁ?ﬁsuao%wwaﬂt
1aosnﬁuwa;maiﬂ=rmmqaﬁ§amm
aﬁaélmﬁamwmzﬁamfwﬁrm
Fifs afe TEEEE FE 2 T W =E W

T (i) 48 o, (ii) 58 2° a 4
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(ga sed & fred @ s e T i
o R S SEA e )

Note:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.

&mﬁ:—mwmmaﬁ_a?mfﬁ?mﬁ@
w#ﬂméﬁ?wﬂmﬁqumﬁ?
g ey !

Attempt all questions. Answer all parts together.
All questions carry equal marks.

st gt S % IR Afaw | g qr F IH T G
#ﬁ#:wﬂ?wﬁ%mwa‘z

1. (a) List and explain the different modes of entry for
an international business firm.

Tumn over
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& FTigh =miEs o & w3w 3 faf=
T # g amed Sk gy 7
(b) What is international business? Briefly explain the

factors that have led to growth of international
business in recent years.

Wwwé?mﬁﬁamﬁm%
aﬂ#g{q@%mﬁﬁwﬁm@r 8
Or (e

Explain the salient features of the complex, multi-
dimensional and interrelated business environment in
which the multinational corporation has to operate.

39 wfew, sgemamt sk TER-gEtyd e
T H o frdrwasdt A wwensd fored wguvy
Pt = Fref s gear @ 15

2. (a) Explain the role of the WTO as a regulator of
world trade.

fova =R & frams 3 wg 8 WTO =i Yfiem

i 7

(b) “Balance of payments  always balances.”

Elucidate. But how do you explain disequilibrium
in balance of payment?

“wﬁwwﬁwd@%ﬁaméf’m

Wrwmwmﬁwaﬁ

o wehr T 2 8
Or (39
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Explain Porter’s theory of national competitive
advantage as a theory of international trade.

FHUET =R F fagra & w9 F vty sfamutas
N & 9 & g ) wneEd | 15

. What are the measures taken by the Government of
India to promote FDI in India?

97d ¥ FDI & da<¢d & o) wRdlg 9@r 3 ==
Fe9 I3 22 15

Or (1)

Write short notes on any two:—

(a) Spot rate vs Forward rate

(b) Foreign exchange risk and Foreign exchange
exposure

(c) Greenfield investment vs Brownfield investment.
fret @ W wfera feoqolt fafe:

(a) We W F7r7 3fuwq T

(b) feeft fafimm Siifaw aor fadeht fafma e
(c) WAwieE fFRY F9r7 aRagtes faw 15

. Explain the factors affecting exchange rate deter-
mination.

fafma = fafor & yafas =3 a9 7 goemEd ) -
15

P. T 0
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Or (AGd)

Explain purchasing power parity and interest rate
parity theory of exchange rate with example.

fafrmg @ F F9 OiE §9al a9 AN R WA
fagral # a9EEd | 15

5. Write short notes on any two of the following:

(a) Measures for promoting foreign investments into
and from India

(b) SEZ policy of Government of India

(¢) EPRG Framework.

frafafaa ¥ ¥ fedl & W dfgw feooft i
(a) W@ ¥ qun wE ¥ fdeht frdw % waA & 3T
(b) WA TR F SEZ Afa ‘

(c) EPRG @i | 7-5%2
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&t g9 Filord |
TR FegA @ AT # A &1
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i.(a) Whatdo youmean by Insider Trading? Who is an insider

as per SEBI Regulations?
g NN & AT T A B2 4 R &
AR TH A A ¥ 4

(b) Aninvestor has to choose from two securities. They have
different rates of return but the probability is same. Suggest

in which security he should invest.
Probability ~ Return (X) Return (Y)
0.1 -10 12
0.2 10 14
03 20 18
04 25 20

o Pt 3 @ sRRE & g R

oee @ & R € A st e 8 g9

Sfm 5 9 2 & Ry § PR s o
T I (X) 0 9 (Y)

0.1 10 12

02 2E10 14

0.3 20 18

0.4 25 20 11
Or (m)

(a) What do you mean by the term unfair trade practice? When
is a trade practice considered as fraudulent?

7798 2




s AR e T ¥ ST F e &7 SR
e A EAE qE S ®? 4
()] Aninvestol'p].u'chllﬂ mequityslmatapriceof Rs.100.

Its expected year end price and dividend with relevant

probabilities are given below ©
Probability Share Price (Rs.) Dividend (Rs.)
0.1 135 8
0.2 125 5
0.4 110 3
0.2 105 2
0.1 95 NIL

Find out the expected return and variability of return of the

aﬂmt-mﬁmq&aﬁ’rmﬁrwaﬁhﬂaﬂtm

¥ gt WS A TEE
wiEat siq o (Bo) WA (®o)
0.1 135 8
0.2 125 5
04 110 3
02 105 2
0.1 95 NIL

7798 3 PT.O.




Syear'smﬁveequal annual instalments. 'Ihcbcmdcarries

Or (M)

(a) Define the term ;nvestment . HOW is it different from

7798 4




(b) A bond having face value of Rs. 1000 is currently sold
at Rs. 1078 . The coupon rate (payable annually) s 12
9%, It will be maturing after g years . What is the yield
expected on this bond by the investor 9 1f this bond
< callsble after 5 years at Rs. 1050, what will be the
yield ? '
1000 o mﬁmmﬂmwmﬁ 1078 To A
Fan @RI FAE (e ) 12% ¥\ TE 8
a&mqﬂmé\mﬁé‘mmﬁm-%w
ST TR &7 uﬁuﬁmﬂaaﬁqﬁrﬁmsoﬁ
o & @ @ @ B 1

3. (@) Briefly explain Dow Theory with the help of a diagram.
Yai # wema § DOW fagra @ waw & =e
FAT | 4
(®) ABCCo.haajustpaidndividendofRs.zpashare.ln
viewofthznpidg:owthot‘thccompmy,thcd.ividcndis
expected to grow at IO%p.a.fornext3yeaIS.Aﬁcrt‘tlat
the growth process will slow down and the dividend is

expected to grow only st 8% P2 infinitely. In view of the

198 = P.T.O.

i — i



ﬁskmvolvedinﬂmmvcsmmt,arenmofm%iswnsidcwd
appropriate. What is the price an investor should be ready
mpayfmthissham?

mcmﬁ%a‘tﬁaaouﬁm'ﬂmﬂﬁm%l
Wﬁﬁaﬁﬁmﬁw&ﬂmﬁﬂ
mw%ftwﬁiﬁﬂaﬁaﬁmﬂw%nﬁfﬂd
2w Sad I i dnft g S &
ms%ﬂﬁaﬁﬁﬁ?w@nlﬁiﬂﬁw
Sfew & weoR 20% o feper Sage A S TE
t.mﬁmmﬁmm:@xwma‘:

Ry dar T =@eT? ‘ 11
or ()

(a) Explain Economy-Industry-Company (EIC) Approach.

ayeteraRa-SET-H (El(:)wrﬂraqsmi 4

(b) XYZ Company's current share price is Rs. 72 and its last

7798

dividend paid was Rs. 4.80, If dividends are expected to

grow &t a constant growth rate g and if required rate of

return (k) is 12 %, what is XYZ's cxpcctcdsharepricc?}
ycm-fmmnow‘?

XYZMHWGI'QTIW 79 To ¥ S A
m4.soaoﬁmw%laﬁma%ﬁmﬁm

6



W g A T H TWET ¢ @ afe ufoww @ srifea
W (k) 12% & @ XYZ T & 3w & 77 &7 7
qE FT BA? 11

-~

4. (a) Explain the procedure involved in credit rating of debt
instruments.
v el & aftT W § afafwa afear awsmg)
' 4
(b) The following information is available with respect to two

securities in the portfolio of Mr. Mohinder :
Security Weight Return Standard

Deviation
A 40% 15% 20%
B 60% 18% 14%

(i) Find out the correlation coefficient between the two
securities if the standard deviation of the portfolio is
14%.

(i) Find out expected return and standard deviation of
the portfolio comprising of A and B in the ratio of
30% and 70% respectively and correlation coefficient
of 1.

o wdift=x & Uwiferr @ < sfgfodt & wafaa

e g

TI98 7 P.T.O.




or (swe)
(2) Differentiate between systematic risk and unsystematic
nisk.
e @ feaaRan e F o QL 4
(b) From the data given below find which of the following

securities are overpriced of underpriced using SML

equation
Security P Q R S T
B 1.4 08 11 253 20

Return 12 1 17 2 16
Thercnn'noumarkctindexis 11% andthcnmomisk
free asset is 5%. '

7798 2

e ———————

778



risk

ﬁﬁ&aﬁimmmﬂmmg
mm-w'ﬁWmWaﬁ%ﬂnﬁﬂ
& T g4I W &7

wiRmf P 0 R S T

B 14 08 11 25 20
wie® 12 MR T 16
w@wuﬁ%u%%aﬂtﬁmgﬁmﬁi
w Rwd 5% Bl ' 11

5. (a) Thcfollowingpm‘ﬁaﬂﬂ'smgivmm]atmgtoammﬂﬁmd:

7798

Opening NAV per unit Rs. 22
Closing NAV per unit " Rs.28
Administrative Expenses including Fund

Manager Remuneration Rs. 134 lakhs
Management Advisory Fees Rs. 85 lakhs
Publicity and Documentation Rs. 51 lakhs

TotalunitsissuedbytheﬁmdarcmOlakhs.Asccrtainthc
Expense Ratio.

oF TEAE B ¥ wArea forr fraeer SUEE
¥

e i 3HE NAV 22 ©o
s NAV 9 5@ 98 To

9 PTO.



eTERE @, B YauE & URHRE

= e 1,34,000 To
TEET GaE Bl 85,00,000 To
YR U TR , 51,00,000 GO
vz gw it g e 200,00,000 To
=g IO S BT | 4

(b) Mr. Sunil has bought call and put options both. Each contract

7798

is of 1000 shares. He has purchased one 3-months call
with a strike price of Rs. 154 and Rs. 15 as premium. He
has purchased a 3-months put option with a strike price of
Rs. 150 and Rs. 13 as premium. Find out his position and
total profit or loss if stock price on expiration date is (i) Rs.
120, (ii) Rs. 180.

fro giw 9 Call &R Put option 2 @S &1 qAE
SFERE 1000 3iY 1 & I 3 FE H T Call option
154 Fo F TIEE T AN 15 To N W T |
I6Y U% 8 WIE @i Put option 150 TO wEE T AN
15 o Sy & @hd| e Rafy 7 W AHEH
P aft o @ fefr w R=iw 7 ¥ () 120

%o, (ii) 180 To | 11

e S e

7798




or (/)

(a) What dg you mean by futures? How is future contract
e ¥ N9 @ A e A SHITH i
s ¥ B ot 7 4

(b) Mr.Ais holding ghares of X Ltd. inhis portfolio. Probability
distribution of expected return from this stock and market
index is given below: !

Situation ~ Probability . Return Return
of A(%) of market(%)
6 10

Recession 02

Average 04 15 16
Good 0.3 27 2
Boom 0.1 30 29

The risk free rate is 7%. Assuming that CAPM conditions
hold true, should M. A continue to hold this stock in his
portfolio?

fire A%aﬁﬁéﬁmﬁxﬁfo%mﬁﬁ%lw
ot & T Swa B i & 3 TER

Fawis 7 €
i gaftEE A W Woew e
(%) wiwa (%)
e 0.2 6 10
JArad 0.4 15 16
T 0.3 27 2
B 0.1 30 29

7798

i BT.O.



et s 70 7% &1 v B CAPM 9 ok W
= e A B g ©fF aW R §

@ Tifeg? 11
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69 79 & faed @ sw A 13 Fraffa
T W A T fafed 1)

NoTe:— Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.

feovit— 59 ¥¥997 F1 I FHAA T (3=t fFd wH
9T 7 AT dfeT a9t 3T T A uF @
g FifET |

Attempt all questions. All questions carry

equal marks mentioned alongside.

=gl wier yval & 3% e a4t v &
3% QU ¥ 1 3T G sfEa 8

1. “An idea can turn to dust or magic depending on the
talent that rubs against it.” Comment. State the

P.T.O
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imporiance of creativity and innovation in the light of
this statement.

Or (39E)
«Ap entreprencur is a person who acts as an
innovator, manager and coordinator of all the tangible
and intangible resources.” Elucidate, bringing out the
functions of an entrepreneur.

"@W‘ﬂﬂiﬂméﬁﬁﬁﬁﬁ,mﬁaﬂi
m%mﬁuﬁ@wa@ﬁmﬁmm

2. Explain any three of the following:
(a) Women Entrepreneurship
(b) Intraprcncurship
(c) Technoprencurship
(d) International Entreprencurship
(e) Social Entrcpreneurship.
FaH A et a1 Eq [ugEa:
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() TSR Fafmar | 55,5

. What do you understand by family business? Discuss
the business philosophy; values and pehavioural

orientation of any two important Indian entre-
preneurs. '

Wwﬂmwm%?wa
ﬁﬁ@ﬂﬂ?ﬁﬂmhﬁ%mmzﬁq,n@ﬁam
Wmﬂﬁma&ml 15

Small scale units are key to the economic growth of
our country. Discuss. Also write in detail about the
various significant measures taken by the Government
for the growth of the MSMEs.

4. (a) Critically examine the role of venture capitalists

as an agent of cntrcpreneutial growth in the
country-

mﬂmﬁﬁ%@z%mﬁm
qefrafadt qfrat serEATeTE  TaET
FfeR | 7-5
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(b) What is business idea? Describe the various
sources of business ideas.

sraafas faar (amsfean) @1 g7 SAEEas
foram ¥ fafe=r arat a1 fedr o | 7.5

Or (39a)

(a) Distinguish between an internal growth strategy
and external growth strategy.

_amrﬁmqﬁ:zvﬁl%ru:q*wqﬁawmﬁﬁ
v W | 7-5

(b) What is fixed capital? Discuss the factors that
influence the amount of fixed capital structure
required by an entrepreneur.

forr st @ 27 fedt swl % Al oS
W@ﬁﬁmﬁtmaﬁaﬁw{aﬁm
faaram Fifed | 7-5

5. What is a feasibility report? What are its contents?
Also state its benefits.

sy i = At §7 g fawage w0 A
27 g% @ ot TaEA | 15

Or (FE)
What is a business plan? Explain the guidelines that

should be followed while preparing a business plan.

raEE AW F A &7 wEEE AN FA &

wmmmﬁaﬁﬁmﬁiﬁaﬁﬂmmﬁ
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1. Define e-filing of Income Tax Return. When is it
compulsory?
mﬁwﬂﬁc-tsrsﬁﬂﬁtiﬁqmafﬁiﬂ
5 Al €7 5

Or (@M |

Define e-verification. What are different ways of
e-verification of Income Tax Return?

e-qama%ﬁﬁmﬁéaaaﬁﬁ1 s faaot
e.wm%eﬁfmaﬂ%_ﬁw%? - 5

2. When can ITR-3 be filed?
m-3$awmmqm%? -' 5

Or (g

Mr. X is carrying On retail busincss. During F.Y.
2016-17, his Gross Turnover is Rs. 1,00 00,000 (out of
which he received Rs. 90,00,000 by cash and balance
by Account Payee cheque). Suggest which ITR Form
he should file, witlt reasons.

ﬁ-m@ﬁmmﬁil faefta ad 201617 ¥
s WS FEd 1,60,00,000 ¥ 3 o § IR
90,00,000 Fo TFX ot 3 SE & @ ¥ A% T



. What is the duc date of filing of income tax return and
consequences of late filing of return?

mﬁa@mmﬂmﬁuw%am
ﬁﬁrﬁfxﬁmvﬁzrﬁaaa:ﬁa:qﬁmw?? 5
Or ( 39=)

Mention the process of e-filing of Income Tax Return.

Wﬁﬁmﬂaﬁvmﬁﬂaﬁmmm 5

. Write short notes ons

(a) Form 26AS

(b) TDS u/s 194J.

sty feomit fetfiit—

(a) W 26A8

(b) TDS u/s 1941 5+5

Or (HEE)
(a) ‘Mention different types of TDS return forms and
due date of TDS returns. :

o W a3 wAe (TDs) W famwh & P
mmtm31W'ﬁ@WﬂW%?

P.T. O.
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M:samwwwmmﬁa?%ﬁww
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i

(a) What do you understand by the term investment? What

objectives should be kept in mind while investing in securities

market?

ﬁﬁww%mwmﬁ? qfagﬁfamﬁfﬁ%m

= g F S EH A & e’ 3,7
(b) Explain market order with the help of an example.

Serewer @1 wewa § AR SRy TRy | 32

Or (M)
(a) Whatis an PO? Explain the process of Book Building.
PO N B €7 WW%Mﬁmﬁm
' 2,8
(b) Nlustrate the process of matching of orders in online trading.

FHiT 5

(a) Describe the procedure of placing an order and execution

of a transaction.

m&ﬁﬂmmaﬁa%ﬁmmﬁﬁm

i | 10
(b) Write a note on Bombay Stock Exchange. I'
o =i s | T froqefy fftad | 5
Or (m)

The return in percentage on securities Pand Q under different

situations are given below:

2887 2




State Probability Possible Returns (%)

of the of P o
Market  Occurrence
Bear £3 9 7
Normal 4 12 11
Bull 3 15 28

Find out expected return and risk associated with both the
securities and which security should an investor choose and
why.

P@TQWWWWﬁ g T ATTE A=

MY
TR A R e et e (%)

fgfx  F WREEN P Q
fam 3 9 7
FEd A 12 1

qw 3 15 28

3. (a) Explain and illustrate how Profit and Loss Account can be
used to analyze the financials of a company.
et & Rsta F e 0 & f A
aran fra W wgE fea S A ¥ P =&

gaaRe | 10
2887 3 P.T.O.



(b) What is NIFTY?
Prd 0 &7 ' 5

Or (m)
(a) Whatare yarious factors which affect the choice of mutual
funds?
e TS F T 1 g O A e |
w0 ¥? 9 |
(b) Calculate EPS and PE Ratio: — )
Net Profits After Paying Taxes Rs. 15,00,000
Equity share capital divided into
shares of Rs. 10 each Rs. 5,00,000
Current Market Price 75
EPS @@ PE ST Prpfere -
¢ & I¥E Fa T 15,00,000 T©
g @ 10 To & i A
i & 5,00,000 T©
Fda= IR T 75
6
4. (a) Whatis support and resistance level in technical analysis?
Explain its importance in stock selection process:
aﬁ%ﬁﬁwﬁmmﬁfrﬂwmﬁm%?
e g SR A FE e FaAEs | 9
the basic and advanced interactive

®) Briefly explain some of
charts in stock analysis.
syl qEr I gaRd

2887
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Or (379a)

(a) What is a mutual fund? What are the benefits of investing

in mutual funds for a small investor?
R GUE T 2 UF B2 NS F HEAT TS
¥ s @ w1 @9 B &7 36

(b) AMutual Fund accumulated Rs. 30,00,000 by issuing 50,000

units in the beginning of a financial year. It invested Rs.
28,00,000 in the corporate securities. The present price of
these securities and the price at which the Mutual Fund
invested in these securities are given below :
Investment  Value at the Value at the  Income
beginning end
Equity 10,00,000 12,00,000 1,50,000
Debentures 12,00,000 11,00,000 1,44,000
The mutual fund incurred an expense of Rs. 50,000 during
the year. Find the NAV of the mutual fund at the end of
the year.
uF e w0 ¥ fcfg af § sy 7 50,000
sdl @ FRiT #T@ 30,00,000 F9 THA fd | TEA
98,00,000 9 wHfted whegferdt & fasr f6d ) &

yferfert @ e e qar B I 9 _EST U

¥ 78 Fay e 99 R
s ooy | ar=q ® I
L] EaLG
quar 10,00,000  12,00000 1,550,000
FHOTIS 1200000  11,00000  1,44,000
5 P.T.O.



u{gaaw%aé%éxmsoﬂoomﬁﬂmml
ad%mﬁvﬁmmmnmﬁﬂml 6

5 Distinguish between call option and putoption contract. Explain
with examples as to how an investor should use them to minimize

(a) Explain currency derivatives.
© ey AR wEAET 6
(b) Write notes on any three from the following :
(i) CRISIL
(i) MCX
(iii) NSE
(iv) P/E Ratio
(v) PEG Ratio
(vi) Price Revenue Ratio.
frer & § Rl AW feroqefy fafEa :
(i) CRISIL
(i) MCX
(i) NSE
(iv) P/E ST
(v) PEG STIUTT
(vi) T T g | 9

2887 6 2600



